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Questions (6 through 10)
Discuss input and output devices with examples
How the Communication between the CPU and Inputfoutput
devices? Explain

OR
How the Hardware, Software, and people are involved in effective
usage of a compuler. Justify in your observations
llustrate Data Preparation? Discuss the factors that are to be
considered while selecting input device

List all conditional contro! statements used in C. Explain any two
with syntax and example
Write a C program to find the faclorial of a number using do-while,
where the number n is entered by user

OR
Define Algorithm. Write an algorithm to find the area and perimeter
of a circle
What are basic data types available in “C*? Write the significance
of each data type

With a neat diagram, explain OSI reference model

OR
Write any four functionalities of an operating system
Explain star and ring topologies

Write the advantages & Disadvantages of Database approach
over File-griented approach
Explain Object-oriented Data Mode

OR
What is a Database Management System? Explain various
components of it
Explain Network mode! Vs Relational model

Explain the current frends in Al
Wiite the various Applications of machine leaming
OR
Discuss the developments of Al languages
What are the ingredients of machine leaming? Explain
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No. Questions (1 through 5)
List any two memory types
1 Primary memory
Secondary memaory
Write the Difference between Compiler and Interpreter
Interpreter Compiler
Translates program one statement ot a Scans the entire program ang
time, as a whole into machine code
9 Interpreters usually take less amount of Compilers usually take a larg
time to analyze the source code. time to analyze the source co
However, the overall execution time is However, the overall executio
comperatively slower than compilers. comparatively faster than ino
tes Object Code wh
No Object Code is generated, hence are Gen?ra e.s X D ',C
. requires linking, hence require
memory eificient.
memory.
What is an operating System
3 An operating system (OS) is system software that manages computer hardware, software
resources, and provides common services for computer programs.
Define Database view
A database view is a searchable object in a database that is defined by a query. Though a view
4 doesn't store data, some refer to a views as “virtual tables,” you ¢an query a view like you can a
table. A view can combine data from two or more table, using joins, and also just contain a subset
of information
What is Artificial Intelligence? Give an example of where Al is used on a daily basis
Artificial intelligence (Al) is the ability of a computer program or a machine to think and leam. It is
also a field of study which tries to make computers "smart”. ... In general use, the lerm “artificial
intelligence” means a programme which mimics human cognition.
5 e Self-Driving And Parking Vehicles. Self-driving and parking cars use deep leaming, a Definition 1M

subset of Al, lo recognize the space around a vehicle. ...

Digital Assistants. ...

Vehicle Recognition Identification. ...
Robols. ...

Transportation.

Example 1M



No.

6(a)

6 (b)

7{a)

7 (b

Questions (6 through 11)
Discuss input and output devices with examples
INPUT DEVICES: Following are some of the important input devices which are used in a
computer -
1. Keyboard 2.Mouse 3.Joy Stick 4.Light pen 5.Track Ball 6.Scanner 7.Graphic Tablet
8.Microphone 9.Magnetic Ink Card Reader(MICR) 10.Optical Character Reader{OCR)
11.Bar Code Reader 12.0ptical Mark Reader(OMR)
Light Pen
Light pen is a poinfing device similar to a pen. It is used to select a displayed menu ilem or draw
pictures on the monitor screen. It consisls of a photocell and an optical system placed in a small
tube.
Track Ball
Track ball is an input device that is mostly used in notebook or laptop compufer, instead of a
mouse. This is a ball which is half inserted and by moving fingers on the ball, the pointer can be
moved. ball is an input device that is mostly used in notebook or laptop computer, instead of a
mouse.
Magnetic Ink Card Reader (MICR)
MICR input device is generally used in banks as there are large number of cheques to be
processed every day. The bank's code number and cheque number are printed on the cheques
with a special type of ink that contains particles of magnetic matenal that are machine readable.
OUTPUT DEVICES:
Following are some of the important output devices used in a computer.
= ivionitors
= Graphic Plotter
= Printer

Monitors

Monitors, commonly called as Visual Display Unit (VDU), are the main output device of a
computer. It forms images from tiny dols, called pixels that are amanged in a rectangular form. The
sharpness of the image depends upon the number of pixels.

How the Communication between the CPU and Inputioutput devices? Explain

s The communication between the IOP and the devices is similar to the program control
method of transfer. And the communication with the memeory is similar to the direct
memory access method.

s inlarge scale compulers, each processor is independent of other processors and any
processor can iniliate the operation.

+ The CPU can act as masler and the 10P act as slave processor. The CPU assigns the
task of iniliating operations but it is the JOP, who executes the instructions, and not the
CPU. CPU instructions provide operations to start an /O transfer. The IOP asks for
CPU through interrupt.

s |Instructions that are read from memory by an IOP are also called commands to
distinguish them from instructions that are read by CPU. Commands are prepared by
programmers and are stored in memory. Command words make the program for IOP.
CPU informs the {OP where to find the commands in memory.

OR
How the Hardware, Software, and people are involved In effective usage of a computer.
Justify in your observations

llustrate Data Preparation? Discuss the factors that are to be considered while selecting
input device

Each device
Explanation 1M

Explanation 6M

Explanation 6M

Explanation 6M




8(a)

Lsdid Ciil dUSE LTOM 4 variety of SOUrces. Mor eXumpie, WiEL SLuUGHLa 35
cxaminations, the frades obtained make up the data to be processed by the
computer. When cpstomers make withdrawals or deposits at a bank, the slips
filled out arc the sourees of the data. When people fill out questionnaires, the
answers to the questions are the data. In the majority of cases, the original data
isnotin a form which can be readily processed by the computer. For instance, the
computcr cannot ‘read’ the answers directly from the questionnaires. The data
must first be converted into machine-readable form. A large proportion (30% to
30%) of computing costs is spent on this conversion, which is cailed data
preparation,

For a typical application, the following steps need to be performed:

(1) The data from the source documents is entered on the chosen medium
(for example disk, tape or cards) by a data entry operator.

(2 The data entered is then verified. The usual procedure is for another
opcrator tore-enter the same data. The operatoris told of any mismatch
bctv:.rcen _thc firstandsccond entry. The errors noted are then corrected
Venﬁczglmn can also be done by the original operator, who keys in tht;
data twice; only if the two entries match is the data recorded. Otherwise
the data has to be re-entered until there is no mismatch ’

(3 The r_esult ofstep 2is that the data is now in machine~rea(iable form. Th
fiata is lhr{n input to the computer usingan appropriate input devi . F ;
Instance, if the data is stored on 2 magnetic disk, a disk drive ce.d o
rca;i the gntg from the disk; if the data is rccordéd on punche; :::dstcz’l
c R n >

( t::c;rm p:::tz; :r is .used to read the cards and transmit the data to the

4) Usually, the first attempt at process; \
escaped detection at thg Veri':icati;:gtgatg? g‘?)[rae‘::;covfm e hich
g:zwer to? question shopldhave been either | (for Yn;zpsje:;g;};;g: ilt(})l;

ause of poor handwriting an answer 2 may have look.ed like a 3; th’e

and step 3 repeated.
Acannthae run— et »

List all conditional control statements used in C. Explain any two with syntax and example
In C, we have 32 standard keywords and out of them 12 (the keywords in the second column
of the following table) are coniro! statements.

These statements control the flow of the program and out of them some are selection
statements, some are iterative statements and some olher are jumping statements.
If Statements
If statement enables the programmer to choose a set of instructions, based on a condition.
When the condition is evaluated to true, z sel of instruclions will be executed and a different
set of instructions will be executed when the condition is evaluated to false. We have 4 types
of if Statement which are:
1. If..else
2. Nesled if
3. Else if ladder
4. Simgle if or null else
5. Null else or Simple else
f...else Statement

In this statement, there are two types of statements execute. First, if the condition is true first
slatement will execute if the condition is false second condition will be executed.

Syntax:

Definition 1M
explanation 5M




If{condition)
Statement(s);
glse

Statement(s)
}
Statement
Nested if
If the candition is evaluated to true in the first if statement, then the condition in the second i
statement is evalualzd and so on.
Syntax:
ii{condition)

If{condition)
Statement(s);
}

Else

Statement(s)

}
}

Write a C program to find the factorial of a number using do-while, where the number n is
entered by user

#include<stdio.h>

#include<conio.h>

void main()

int ni=1,f=1;
clrser();

printf("\in Enter The Number:");
scanf{"%d",&n);

8(b) {ILOOP TO CALCULATE THE FACTORIAL OF A NUMBER Program 6M
do

f=f;
i+

Jwhile(i<=n)

printf("\n The Factorial of %d is %d",n,f);
getch),

De

OR of ¢

What are basic data types available in “C*? Write the significance of each data type
Main types. The C language provides the four basic arithmetic type specifiers char, int, float and  Explanation 6M

9(a)



9 (b)

10
(a)

double, and the modifiers signed, unsigned, short, and long. The following table lists the

permissible combinations in specifying a large set of storage size-specific declarations
Data type Range

int

signed int -32,768 to 32,767

unsigned int 01to 65,535

short int

signed short int -2,147,483,648 10 2,147.483,647 (4 bytes)
unsigned short int 010 4,294,967,295 (4 bytes)

long int

signed long int -2,147,483,648 to 2,147,483,647 (4 bytes)
unsigned long int 010 4,294,967,295 (4 bytes)

Define Algorithm. Write an algorithm to find the area and perimeter of a circle

The definition of an algorithm is a specific and logical procedure to be followed in order to achieve

specific results, or to solve a math prablem
Area of Circle Algorithm:
Step 1: Start
Step 2: Input radius
Slep 3 letpi=3.14
Slep 4: area = pi * radius * radius
Step 6; print area
Slep 7: stop

With a neat diagram, explain OSI reference model
The Physical Layer:

The towest layer of the OS1 reference model is the physical layer. it is
responsible Tor the actual physical connection between the devices, The

physical-  layer  contains  information in the form  of

Algorithm 1M
Explanation 5M

Diagrams-
(4M)
Explanation
-(8M)

hits.

ks
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OR
Write any four functionalities of an operating system
Impertant functions of an operating System:
1. Security -
The operating system uses password protection to protect user data and similar other
techniques. it also prevenls unauthorized access lo programs and user data.

2. Contro! over syslem performance -
Menitors overall system health to help improve performance. records the response time
between service requesls and system response to having a complete view of the system
health. This can help improve performance by providing important information needed to

troubleshoot problems.
11 .
3 Job accounting - )
(a) Qperating system Keeps track of time and resources used by various tasks and users, Explanation 4M
this informalion can be used to frack resource usage for a particular user or group of
users,
4, Emor detecting aids -
The operaling system constantly monitors the system lo detect errors and avoid the
malfunclioning of a computer system.
5. Coordination between other software and users =
Operating systems also coordinate and assign interpreters, compilers, assemblers, and
other software to the various users of the computer systems,
Explain star and ring topologies
Star Topology:
1 In a star topology, each device has a dedicated point-to-point link only to a cenfral controller, Explanation {8M)
(b} vsually called a hub. The devices are not directly linked loone another. Unlike a mesh Each topology( 4M)

topology, a star topology does not allow directiraffic between devices. The controfier acts as
an exchange: If one device wantsto send dala to another, it sends the data lo the controller,




which then relays the dala to the other connected device .

Ring topology

In a ring topology, each device has a dedicated point-to point connection with only the two
devices on either side of it. A signal is passed along the ring in one direction, from device to
device, until it reaches its deslination. Each device in the ring incarporates a repealer.

When a device receives a signal intended for another device, its repeater regenerates the bils

and passes them along
Hub
iy
L R AL i AR e AN ] APy TELT I
Station Station | Station Station

Write the advantages & Disadvantages of Database approach over File-oriented approach

SNO.  File System DBMS

File system is a software that manages and organizes DBMS is a software for w

1. the files in a storage medium within a computer. database.
2 Redundant data can be present in a file system. In DBMS there is no redu

it doesn't provide backup and recovery of data if itis it provides backup and re
3. losl, evenif it is lost.

Exptanation
12(a) BMP
Efficient query processing

4. There is no efficient query processing in file system. DBMS.

There is more data consi
5. There is less data consistency in file system. of the process of normali:

It has more complexity in
B It is less complex as compared to DBMS. compared lo file system.

File systems provide less security in camparison to DBMS has more security
7. DBMS. cempared to file system.




It has a comparatively higher cost than a
8. Itis less expensive than DBMS. file system.

Explain Object-oriented Data Mode
object oriented data mode! is based upon real world situations. These situations are
represented as objects, with different attribules. All these object have multiple relationships
between them,
Eiements of Object oriented data mode!
Objects
The real world entities and situations are represented as objects in the Object oriented
database model.
Attributes and Method
Every object has certain characteristics. These are represented using Attributes. The Explanation 6M
behaviour of the objects is represented using Methods.
Class
Similar attributes and methads are grouped together using a class. An object can be called
as an instance of the class.
Inheritance
A new class can be derived from the original class. The derived class contains altributes
and methods of the original class as well as its own.

12(p)

What is a Database Management System? Explain various components of it

COMPONENTS OF DBMS

DBMS have several components, each performing very significant tasks in the
database management system environment. Below is a Iist of components within the
database and its environment.

o)
Software
This is the set of programs used to control and manage the overall database. This
includes the DBMS software itself, the Operating System, the network software
being used lo share the data among users, and the application programs used to
access data in the DBMS.

Each 2M
13(@) @ Tolal 8M

Hardware

Consists of a set of physical electronic devices such as computers, /O devices,
storage devices, elc., this provides the interface between computers and the real
world systems.

AT

5

Data

DBMS exists to collect, store, process and access data, the most important
component. The database contains both the actual or operalional data and the
metadata.

Procedures

e RS R L DS S,



These are the instructions and rules that assist on how o use the DBMS, and in
designing and running the database, using documented procedures, to guide the
users that operate and manage it.

Database Access Language

This is used to access the data to and from the database, to enter new data, update
existing data, or retrieve required data from databases. The user writes a set of
appropriate commands in 2 database access language, submils these to the DBMS,
which then processes the data and generates and displays a set of results into a
user readable form.

&

Query Processor

This transforms the user queries into a series of low level instructions. This reads the
online user's query and translates it into an efficient series of operations in a form
capable of being sent to the run time data manager for execulion.

()

Run Time Database Manager

Sometimeas referred to as the database coniral system, this is the central software
component of the DBMS that interfaces with user-submitted application programs
and queries, and handles database access at run time. Its function is to convert
operations in user's queries. It provides control to maintain the consistency, integrity
and security of the data.

Data Manager

Also called the cache manger, this is responsible for handling of data in the
database, providing a recovery to the system that allows it to recover the data after a
failure.

i

Database Engine

The core service for storing, processing, and securing data, this provides controlled
access and rapid transaction processing to address the requirements of the most
demanding data consuming applications. It is often used to create relational
databases for online transaction processing or online analytical processing data.

Data Dictionary

This is a reserved space within a database used to store information about the
database itself. A data dictionary is a set of read-only table and views, containing the
different information about the data used in the enterprise to ensure that database
representation of the data follow one standard as defined in the dictionary.

sy

Report Writer




Also referred to as the report generator, it is a program that extracts information from
onhe or more files and presents the information in a specified format. Most report
writers allow the user to select records that meet certain conditions and to display
selected fields in rows and columns, or also format the data into different charts.

Explain Network model Vs Relational model
Network Data Mode! Relational Data Model

It organizes records in form of table and
it organizes records to one another relationship between tables are set using

through links or pointers. common fields.

13(b) Explanalion-4M
it organizes records in form of
directed graphs. It organizes records in form of tables

In this relationship between various
records is represented physically via  In this relationship belween various
linked list. records is represented logically via tables.

Explain the current trends in Al

Greater Cloud and Al collaboration

Rico Bumett, the director of client innovation at legal services provider Exigenl, says that

Artificiat Intelligence will play a significant role in the broad adoption of Cloud Solutions in

2021. Through the deployment of artificial intelligence, it will be possible to monitor and

manage cloud resources and the vast amount of available data.

2. Al solutions for IT

The number of Al solutions that are being developed for IT will increase in 2021.

Capgemini’s Simion predicts that Al solutions that can detect common IT problems on its

own and self-correct any small malfunctions or issues will see an increase in the upcoming

years. This will reduce downtime and allow the teams in an organisation to work on high-

complexity projects and focus elsewhere,

AlOps becomes more popular

Over the last few years, the complexity of IT systems has increased. Forrester recently said

that vendors would want platform solutions that combine more than one monitoring

discipline such as application, infrastructure, and networking. IT operations and other teams

can improve their key processes, decision making, and {asks with AlQps solufions and
14(a) improved analysis of the volumes of data coming its way. Forrester advised the IT leaders.  Explanation-6M

1o find AlOps providers who will empower the cross-team collaboration through end-to-end

digital experiences, data correlation, and integration of the IT operations management

toolchain.

4. Al will help in structuring data

In the fulure, we will see more unstructured data is structured with natural language

processing and machine leaming processes. Crganisations will leverage these

technologies and create data that RPA or robotic process automation technology can use

when they want lo automate transactional activity in an organisation. RPA is one of the

fastest-growing areas in the software industry. The only limitation that it faces is that it can

only use structured data. With the help of Al, unstructured data can easily be converted into

structured data, which can provide a defined output.

5. Artificial intelligence talent will remain tight

The supply of talent is expected to be an issue in adopting artificial intelligence in 2021.

There has been a persistent gap in Al talent, and organisations have finally realised this

potentia!. It is essential {o address this gap and ensure that a wider group of people leam

artificial intelligence. Ensuring that a broader set of users have access to artificial

intelligence to focus on technology, learning sirategies, and supporting a change in the




working environment is essential in 2021.

6. Large scale adoption of Alin the IT industry

We have seen continuous growth in adoption of Al within the (T industry. However, Simion
predicts that organisations will use Al in production and start using them at a large scale.
With the help of artificial intelligence, an organisation can get RO! in real-time. This means
that organisations will see their efforis being paid off.

Write the various Applications of machine learning
Image Recognition:
Image recognition is one of the most common applications of machine leaming. It is used to
ideniify objects, persons, places, digital images, elc. The popular use case of image
recognition and face detection is, Automatic friend tagging suggestion:
Facebook provides us a feature of auto friend tagging suggestion. Whenever we upload a
photo with our Facebook friends, then we automatically get a tagging suggestion with name,
and the technology behind this is machine Jeaming's face detection and recognilion algorithm.
It is based on the Facebook project named "Deep Face,” which is responsible for face
recognilion and person identification in the picture.

Programmer motivation {or how to stay motivated when leaming lo code)

2. Speech Recognition

While using Google, we get an option of "Search by vaice,” it comes under speech
recognition, and it's a popular application of machine leaming.

Speech recognition is a process of converting voice instructions into text, and it is also known
as "Speech to text", or "Computer speech recognition.” At present, machine leaming
algorithms are widely used by various applications of speech recognition. Google

assistant, Siri, Cortana, and Alexa are using speech recognition technology to follow the voice
instructions.

3. Traffic prediction:

if we want to visit a new place, we take help of Google Maps, which shows us the correct path
with the shortest route and predicts the iraffic conditions.

It predicts the traffic conditions such as whether traffic is cleared, slow-moving, or heavily
congested with the help of two ways:

Real Time location of the vehicle form Google Map app and sensors

Average time has taken on pasl days al Ihe same lime.

Everyone who is using Google Map is helping this app to make it better. It takes information
from the user and sends back to its database to improve the performance,

4. Product recommendations;

Machine learning is widely used by various e-commerce and enlertainment companies such
as Amazon, Netflix, elc., for product recommendation lo the user. Whenever we search for
some product on Amazon, then we started getling an advertisement for the same product
while intenet surfing on the same browser and this is because of machine leaming.

Google understands the user interest using various machihe learming algorithms and suggests
the product as per customer interest.

As similar, when we use Netflix, we find some recommendations for entertainment series,
movies, etc., and this is also done with the help of machine learning.

5. Self-dniving cars:

One of the most exciting applications of machine learning is self-driving cars. Machine
learning plays a significant role in self-driving cars. Tesla, the most popular car manufacturing
company is working on self-driving car. It is using unsupervised learning method to train the
car models o detect people and objects while driving.

filters used by Gmail:

Content Filter

Header filter

General blacklists filter

14(b) Explanation-6M




Rules-based filters

Permission filiers

Some machine leaming algorithms such as Multi-Layer Perceptron, Decision tree, and Naive
Bayes classifier are used for email spam fillering and malware detection.

Discuss the developments of Al languages

. Pythan

Python is considered to be in the first place in the list of all Al development languages due
to the simplicity. The syntaxes belonging to python are very simple and can be easily leamt.
Therefore, many Al algorithms can be easily implemented in it. Python takes short
development time in comparison to other languages fike Java, C++ or Ruby. Python
supports object oriented, functional as well as procedure oriented styles of programming.
There are plenty of libraries in python, which make our tasks easier. For example; Numpy is
a library for python that helps us to solve many scientific computations. Also, we have
Pybrain, which is for using machine learning in Python.

2 R
R is one of the most effective language and environment for analyzing and manipulating the
data for statistical purposes. Using R, we can easily produce well-designed publication-
quality plot, including mathematical symbols and formulae where needed. Apart from being
a general purpose language, R has numerous of packages like RODBC, Gmodels, Class
and Tm which are used in the field of machine learning. These packages make the
implementation of machine leaming algorithms easy, for cracking the business associaled

problems.
3. Lisp
15(a) Lisp is one of the oldest and the most suited languages for the development in Al It was  Explanalion-each
invented by John McCarthy, the father of Arificial Intelligence in 1958. it has the capability 2M
of processing the symbolic information effectively.

It is also known for its excellent prolotyping capailities and easy dynamic creation of new
objects, with automatic garbage colflection. lls development cycle allows interactive
evaluation of expressions and recompilation of functions or file while the program is still
running. Over the years, due lo advancement, many of these features have migrated into
many olher languages thereby  affecting the uniqueness of Lisp.
4, Prolog
This Janguage stays alongside Lisp when we talk about development in Al field. The
features provided by it include efficient pattern matching, iree-based data structuring and
automalic backiracking. All these features provide a surprisingly powerful and flexible
programming framework. Prolog is widely used for working on medical projects and also for
designing expert Al systems.

5. Java

Java can also be considered as a good cheice for Al development. Artificial intelligence has
ot to do with search algorithms, artificial neural networks and genetic programming. Java
provides many benefits: easy use, debugging ease, package services, simplified work with
large-scale projects, graphica! representation of data and better user interaction. It also has
the incorporation of Swing and SWT (the Standard Widget Toolkit). These tools make
graphics and interfaces look appealing and sophisticated.

What are the ingredients of machine learning? Explain
Machine leaming is purely mathematical, There are different fields of math involved, with
the major ones being linear algebra, calculus, and slatistics. ML deals heavily with matrix
15(b) and vector manipulation since data can be easily represented in these formats.

The prime goal of all machine learning algorithms is to intake some data and adjust weighls
in an equation to best fit the data. It's not as complex

1. Tasks: the problems that can be solved with machine learning 2. Models: the output of
machine learning 3. Features: the workhorses of machine leaming

Explanation-6M










Semester End Supplementary Examination, October, 2021

Degree B. Tech. (U.G.)  Program CEME
Course Code 20BSX21 TestDuration  3Hrs, Max. Marks
Course ENGINEERING CHEMISTRY

Part A (Short Answer Questions 5 x 2 = 10 Marks)
No.  Questions (1 through 5)

Define hard water and soft water

What is electrochemical series?

Wiite the Dulong's formula.

What are the monomers of Thiokol?

How does nanotechnology work?

n B W N =

Part B (Long Answer Questions 5 x 12 = 60 Marks})

No.  Questicns (6 through 15)

6(a) Differentiate scale and sludge in boilers

6(b) Explain the desalination of brackish water by using electrodialysis

process
OR

7{a) Distinguish the specifications for water by BIS and WHO
7(b) Explain lon exchange process for demineralization of water

8(a) Explain the construction & working of calomel electrode
8(b) Explain the working of H,0; fuel cell with a neat diagram
OR
8(a) How corrosion is controlled by using cathodic protection method
9(b) How nature of metal factors that influences the extent of
corrosion

10(a) Discuss aboul the proximate analysis of coal. Give its
significance

10(b) Define the following terms
a. Calorificvalue b. Knocking c¢. Octane number

OR

11(a) Discuss about the Bergius process for the manufacture of the
petrol with a neat diagram

11({b) List out the applications of bio diesel

12(a)  Write the preparalion, properties and applications of PVC and
Buna-N
12(b)  Differentiate thermoplastic and thermosets
OR
13(a}  Explain the mechanism of lubrication
13(b)  Distinguish the properties and engineering applications of
composites and refractories

Academic Year

70 Semester

&M
6M

aM
M

&M
&M

Learning Qulcome (s)

20BSX21.1
20B5X21.2
208SX21.3
20B5X21.4
20BSX21.5

Marks Leaming Cuicome (s)

20B5X21.1
2085X21.1

20BSX21.1
20B5X21.1

20B5X21.2
20B5X21.2

2085X21.2
20B5X21.2

20BSX21.3

20BSX21.3

20BSX21.3
20B5X21.3

20BSX21.4

2085X21.4

20BSX21.4
20B5X21.4

NSRIT

2020 - 2021

DoK
L1
L1
L2
L1
L2

Dok
L4

L2

L4
L2

L2
L2

L2
L2

L2

L1

L2
L1

L2

L4

L2
L4
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14 (a) Explain the synthesis of colloids by using any methed with example

14 (b)

15 (a)
15 (b)

Discuss the principle, instrumentation and applications of
Transmission Electron Microscopy
OR
Write a brief note on applications of Nanomaterials
Discuss about the nano sensors. Write its applications

&M
6M

20B5X21.5
20BSX21.5

20B5X21.5
20BSX21.5

L2
L2
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Semester End Supplementary Examination, October, 2021

Degree B.Tech.(U.G) Program CEME Academic Year = 2020 - 2021
Course Code  20BSX21 TestDuration  3Hrs. Max. Marks 70 Semester |
Course ENGINEERING CHEMISTRY < e . e\ CTEPIE X%\
Part A (Short Answer Questions 5x 2= 10 Marks)
No.  Questions {1 through 5) Learning Outcome (s} DoK
1 Define hard water and soft water
Hard waler-1mark Soft waler-1 2088X21.1 L
2 Whatis electrochemical series?
Defnition- 1 markseries -1 mark 20B5X21.2 -
3 Write the Dulong's formuta.
Formula- 2 marks 20B5X21.3 L2
CH.OS
4  What are the monomers of Thickol?
Ethyleneglycol+ sodium sulphite -1 mark 2085X21.4 5
5  How does nanolechnology work?
Nanotechnology-1 mark
Work-1 20BSX21.5 L2
Part B (Long Answer Questions 5 x 12=60 Marks)
No. Questions (6 through 15) Marks Leaming Outcome (s} DoK
Differentiate scale and sludge in boilers
Scale-2 marks with diagram
6(a) Example-imark &M 208SX21.1 L4
Sludge -2 marks with diagram
Example-1mark
Explain the desalination of brackish water by using electrodialysis
process
6(b) Desalination-2 marks 6M 20BSX21.1 L2
Brackish water-2 marks
Electrodialysis-2marks
OR
7(a) Distinguish the specifications for water by BIS and WHO
Specifications table BIS- 4 Marks
20BSX21. L4
WHO -4 marks oM Loy
7(b) Explainlon exchange process for deminealization of water
Cation ion exchange -2 marks ’
Anion ion exchange-2 marks aM 20BSX21.1 L2

Process-2marks

8(a) Explainthe construction & working of calomel electrode
Constructions- 3 marks 6M 20B85X21.2 L2
Working-2 marks cell representalions—1 mark

AC 15.00. Eﬂgj Question Paper for End Semester Examination | Academic Regulation 2020



B{b) Explainthe working of Ho.0; fuel cell with a neat diagram
Anode reaction-2marks
Cathode-2marks
Diagram with working -2 marks

&M

OR
9(a) How corrosion is controlled by using cathodic protection method
Tinning method-2
Process-2
Hot dipping-2
9(b) How nature of metal factors that influences the extent of
corrosion
Nature of the metal-3 marks
Nature of Environmental - 3 marks

oM

6M

10(a) Discuss about the proximate analysis of coal. Give its
significance
% moisture -1
%voltile matter -1
%ash-1
%fixed carbon-1
Significance-2 mark

6M

10(b) Define the following terms
a. Calorific value -2 marks
b. b. Knocking-breaking off -2marks
. ¢ Octane number-petrol rating-2 mark

&M

OR
11(a) Discuss about the Bergius process for the manufacture of the
petrol with a neat diagram
Equations-4 marks
Manufacture-2 mark
Diagram-2 mark

M

11(b) List out the applications of bio diesel M
Nalural diseal- 4 applications -4 marks

12{(a)  Wiite the preparation, properties and applications of PVC and
Buna-N
PVC-3 marks &M
Buna-N- 3 marks

12(b)  Differentiate thermoplastic and thermosets
Thermoplastic-3 marks 6M
Thermoselting- 3 marks

OR

13(a)  Explain the mechanism of lubrication
Lubrications-3 marks 6M
Mechanism-3 mark

13(b)  Distinguish the properties and engineering applications of

. . 6M
composiles and refractories

20BSX21.2

2088x21.2

20BSX21.2

20BSX21.3

20B5X21.3

20BSX21.3

20BSX21.3

20BSX21.4

20BSX21.4

20B5X21.4

20BSX21.4

L2

L1

L1

L4

L4



Acid-2
Base-2
Neutral-2

14 (a) Explain the synthesis of colloids by using any method with example
Synthesis-3 marks g
Method- 3 marks
14(b) Discussthe principle, -2 marks
instrumentation -2mark
and applications of Transmission Electron Microscopy-2 marks
OR
Wite a brief note on applications of Nanomalerials
Applications of nanomaterials -6 marks
Discuss about the nana sensors. Write its applications
Nanosensors -3 marks
Applications-3 marks

15 (a)

15 (b)

oM

&M

&M

6M

20BSX21.5

20BSX21.5

20BSX21.5

20BSX21.5
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Semester End Supplementary Examination, October, 2021

Degree B. Tech, (U.G) Program ECE & EEE Academic Year 2020 - 2021
Course Code 20ESX03 TestDuration 3 Hrs. Max. Marks 70 Semester I
Course BASIC ELECTRICAL ENGINEERING

Part A (Short Answer Questions 5 x 2 = 10 Marks)

No. Questions (1 through 5) Learning Quicome {s)  DoK
1 Whatis the diiference between dependent and independent sources? 20ESX03.1 L1
2 Whatis the significance of back E.M.F in a D. C. motor? 20ESX03.2 L1
3 What do you mean by KVA rating of a transformer? 20ESX03.3 L1
4 Define voltage regulation of an alternator and also write the expression 20ESX03.4 L1
5 Write the applications of AC servo molor and single phase induction 20ESX03.5 1

mofor.

Part B (Long Answer Questions 5 x 12 = 60 Marks)

Mo.  Questions (6 through 15) Marks  Learning Outcome (s) Dok
Explain inductance element. Also derive the expression for
6 (a) energy stored in i ™ 20ESX03.4 L2
Four resistors of 50, 7Q, 90 and 12Q are connected in series
6(b) across a 100V source. Calculate the vollage drop across each  5M 20ESX03.1 L3
resistor and power absorbed by each resistor
OR
7(a) Classify the different types of network elements &M 20ESX03.1 L2
Calculate the voltage to be applied across AB in order to drive
current of 5A In the circuit by using star-delta transformalion
for the network shown injﬁgure below?
1%}
N
7(b) e RS &M 207ESX03.1 L3
L...._ /‘\, iﬁ?su 101225_:;: “j\;-—-—-—g
;—‘:s'iZZ { 3:51(;::
\"—_\’\/\ﬂ;_"-/
20
8(a} Explain the principle and operation of a D. C. generalor &M 20ESX03.2 L2
8(b} Explain the construction of D.C. generators 6M 20ESX03.2 L3
OR
Explain the necessity of starter in a D. C. motor and explain
. the operation of a three point starter with a neat skelch (k) LS L2
Explain the principle of operation of single phase
10 (a) T 5M 20ESX03.3 L2
A single phase 200/400 V, 6 KVA, 50 Hz fransformer gave
the following resulis.
OC test(LV side) : 200V, 0.8 A, B0 W
10 (b} SC test{HV side) : 25V, 10 A, 90 W ™ 20ESX03.3 L3

Determine
{i) The circuit constants referred to L.V side
{ii) The efficiency at full load with 0.8 iagging power factor



11 (a)
11 (b)

12 (a)

12 {b)

13 (a)
13 (b)

14 (a)
14 {b)

OR
Describe the parallel operation of a single phase
transformer
Explain various losses that occur in a transformer

Describe the concept of rotating magnetic field.

A 10 MVA 6.6 kv, 3 phase star connected altemator gave

open circuit and short cireuit data as follows:

Fieldcurrentinamps : 25 50 75 100 125 150

OCwollageinkV (L-L): 24 48 61 71 76 79

SC Currentin Amps  : 288 528 875

Find the voltage regulation at full load 0.8 pf lagging by

e.m.f. method. Amature resistance per phase =0.13 Q
OR

Explain the Speed - Torque characeristics of three phase

induction motor

Derive the E.M.F. equation of alternator

Explain the principle of operation and construction of
shaded pole induction motor

Explain the working of capacitor-start type single phase
induction motor

OR
Explain the working principle of A. C. servo motors with
neat sketches
Differentiale between single phase and fhree phase
induction motors

&M
&M

M

7™

™
5M

&M
&M

M

5M

20ESX03.3

20ESX03 4

20ESX03.4

20ESX03.4
20ESX03.4

20ESX03.5

20ESX03.5

20ESX03.5

20ESX03.5

L2

L2
L2

L2

L2

L2

L2
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Degree B. Tech. (U.G.) Program ECE & EEE ' Academic Year 2020 - 2021
Cours‘e Code 20ESX03 Test Duration dHrs. Max Marks 70 Semester [
Course BASIC ELECTRICAL ENGINEERING

Scheme of evaluation

Part A (Short Answer Questions 5 x 2 = 10 Marks)
No. , Questions (1 through §) Marks
What is the difference between dependent and independerit sources?

i Independent source are those, whose value of either the voltage or the current to be delivered is independent of 2
any other parameter of the network. Where as the dependent sources are those, whose value of either the
voltage or the current to be delivered is dependent or controlled on other parameters of the network.

What is the significance of back E.M.F in a D. C. motor?

2 The makes the motor {o draw as much amature current as is just sufficient lo develop the torque required 2
presence of back emf makes the d ¢ motor a self-regulating machine i €., it by the load.
What do you mean by KVA rating of a transformer?

3 kVA stands ior Kilovoit-Ampere and is the raung nommaily used to rate a transtormer. The size of a transiormer 2

is determined by the kVA of the load. ... The Current that passes through transformer windings will delermine the
Copper Losses, whereas lron Losses, Core Losses or Insufation Losses depends on voltage.
Define voltage regulation of an alternator and also write the expression

voltage regulation of an alternator is defined as the rise in terminal voltage, when the load is reduced from

s full load rated value to zero. : 2
' Voltag: Repulation = E.-V poer unit

.-E‘;V 100 percent

Wirite the applications of AC servo motor and single phase induction motor.
AC servo mofors are used in a2 wide variely of applications where position conlrol is crilical and are frequently
used in robotics, semiconductor equipment. machine tools, and aircrafis.

Part B (Long Answer Questions 5 x 12 = 60 Marks)

No.  Questions {6 through 15) Marks
Explain inductance element. Also derive the expression for energy stored in it

Cefinition & Symbol Yy J

e p_ v[%] Covare, maen) :

o P2 T e "

: er e ; .
pr BRE G v atM #:w:_.__!._-t.ﬁ- v iy}
P: Ve 2



Four resistors of 5Q, 70, 9Q and 12Q are connected in series across a 100V source. Calculate
the voltage drop across each resistor and power absorbed by each resistor

} +\“.‘ ) +*‘_—\I&1_ \'ﬂﬁl.—
rﬁg‘;—?ﬂm
——
+ioev 1 f"\‘ sV 3
Rey © S+ 44 41 =330 4 Jox 103 AL
6(b) 5M
_T. = y_ - ‘UU =_;‘03A ‘?‘\"%1 l'
(exy g2 ’ = 3p21 % 303264 %)
vﬂ-\ - 32.03XS =155V Vo= zpxie— ?ﬂ.;:vl\zl
v oz g - 33 12x% 02 = L6V
Voo = z.p2X3 =004 =363 by b -
Vag = 3 FLRLN S My
RISLESUS = U xy 0% MW
OR

Classify the different types of network elements
7(a) Aclive elements,Passive elements,Linear elements,Non linear elements, Unilateral elements,Bilateral &M
elements,Lumped etements,Distributed elements
Calcuiate the voltage to be applied across AB in order to drive current of 5A In the circuit by
using star-delta transformation for the network shown in figure below?
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Explain the principle and operation of a D. C. generator

principle and operation Y

12M

8(a)
Explain the construction of D.C. generators
construction of D.C. generators ™
8(b)
OR
Explain the necessity of starter in a D. C. T
motor and explain the operation of a e :',‘.»r-"-:'\"?“ TS | o
three point starter with a neat sketch e - -
Thros point statter is an elacinon| davics, used mo.,f,f,qf;. . :;'"1 1 1 (A
for starting as well as maintaining the DC shunt o WX i
molor speed. The connection of resistance in o | w”
this circuit is in series which decreases the initial O o B
9 high eurrent and guards the equipment against ]__l,;-fa‘;.—,—./
any electrical faifures. 3N - iz L% 0
Loer T
L ray
vt} g o
OC'I'--_-—»Ll F.T TA,
Threo Point Starter
Explain the principle of operation of single phase transformer
Laraingtrd Toes
Principle ™ m‘
10 Figure W " §'°"""+"""": ?
(@) s A == =

A single phase 200/400 V, 6 KVA, 50 Hz transfermer gave the following results.
QC test(LV side) : 200V, 0.8 A, B0OW
SC test{HV side): 25V, 10 A, 90W
Determine
{i) The circuit constants referred to L.V side
10 {ii) The efficiency at full load with 0.8 lagging power factor

{b) _ v = ) et = 8@  -pg
V, 1ol wo = B0 YT T2eoxe €
\]'1 = Yoo Wz V .in (0% %, TUJ: T, CUQ&U: o-4h
Io z0.8A g0 =100 x 0% XLRE

Iy =B sing, = 0694



D e Vo= - Koo N a0
T, 0-4 I, 0%
= Sovd- Yo » 28945

Li) Tobd 24 = gpd G0 = 1FoW
OF Puay = Y. kvA wsb= 1KEXIO K0S = 4E00W

L & .ﬂf— = __i'é__ﬂg__ = .ﬁ_o_ﬁ - 0. 6
" e 40 T 130 4970 1

o= s/

OR

Describe the parallel operation of a single phase transformer
Parallel Operation of 2 Single Phase Transformer
means that the two or more transformers having the -
same polarities, same turn ratios, same phase
sequence and the same vollage ratio are connected %70 [v H th =
in parallel with each other. The current |- and

11 (a) in have two components, 207

6M

a SM

=
T

Tranifosrer & |

Explain varfous losses that occur in a transformer

Lossezinthe |
transformer
11 (b) I C |« . Dielectri : EM
ran or Cofe opperor electric 1|
lossex Ohmiclosses Stray Losses Lowses I

—
Hysteresis EddyCurrent | ®
lasses Lozzes |

Describe the concept of rotating magnetic field.
The rotating magnetic field is produced by the three-phase current
of the statorin the actual three-phase induction motor, It can be
replaced by permanent magnets in &  permanent
magnet synchronous motor. The three-phase windings of the inner
stator are spaced 120° elechical degrees apart. In addition, the
12 () conductor of each winding is distributed such as a sinusoidal wave.
Therefore, when the current flows into the three-phase windings,
the magneto motive force (MMF) of the sinusoidal waveform is
produced by the cument. ™




A 10 MVA 6.6 kV, 3 phase star connected alternator gave open circuit and short circuit data
as follows:

Field currentinamps : 25 50 75 100 425 150

OC voltagein kV(L-L): 24 48 61 71 76 79

SC Currentin Amps :288 528 875

Find the voltage regulation at full load 0.8 pf lagging by e.m.f. method. Armature resistance

per phase=0.13Q

ol - E,ima i
16mvA = - o Fe Yam f}l.-w
lOJa(IcP kv : Gl
Vis g5 VA “""I
§6X16° ' s
g oiihe B W e
12(b) bolon., ¢
¢-‘- 3686 Pa: D)in P e
' ' ; svot

ting=g-4

e ranf+ farntytutivg s axe )
- L - L
! Jg S1E oA T} (ES1E @ 11 o

Ti- 1oxie® _
' P " atamee 33SHE

S 3Ty 5 10y I0XI0°

LER T
T > BIY 33 Amp R K
| olis s
Yi- ’ T {seod ¥ ‘ Y o0
ﬁ"F"‘i F L valtage Argelebe 433 M ‘
Vel o LR ope 35102 aic
Fh M=, Génipd £ 38105y velks e
3 TT— e i 043310
3 L as 22"'
OR
Explain the Speed - Torque characteristics of three phase induction motor
We know, Tortue equation ts
i kdaE.R,
&y riz¥,
Casen{t): Wxsi), T20
Casce{li): sXp bt very small, Ra»>sXe .
5 Tex
or T = s Ry 1 comntant
Heree, for low vaines of 1k, the tonuenslip curve 15 3pp lya
straight bme. At ship 1ncremnes (fo1 muresing Joad o the motor), the
alw and ¢ when g« AyX;. Thivtonme s known s

‘patl-ont’ et broakdowen’ torque T ot stalling lorgue.

Case-{(iit) : Red vory small, RpecsXs,
I

<L
13 (a) Ty
Hrzre, the tortpas g cmv e 1 & rectzegabar byperbela S0, we wee it beyved the pozst of
s e,z fxther mcrense m et baud et decresse of lorgoe devedaped by the
oo, The resull 7 that e ot ke o i evvealy sops

Therefore, the siip=targue [or) tonuespeed characteristies of dn indiction

ot are shown in the g,
Man Tonper
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13 (b)

14 (a)

14 (b)

15 (a)

15 (b)

Derive the E.M.F. equation of alternator

dd_oP Sip
Abm;miumdpurmhnu-?”m- m
Now, we Lnow that = PX'1 200t V= 120/
Substimama Bus valoeof N ehove, we pet

bp 12
Megren, percontuie I’A: il alf 0wl 5hd

If l!r:rrclmiumnmphu,m;\\m,tmbphnc = Y dlvalt =4 [ vok
RMS. valwolerf phoe = LI x YO 44407 ol

This woukd have been the atual salue of e imduced voliape of all he coa o 2 phse were
) Betbpechod snd () coneenratid e benched nene olo (zsiesdof bemy dstabuted i several dots
ke puenh Bt ot b the el sl it echoced eyt st of e e factor,
o Actallynailbevebage phse <4400 AT =34 ELSO Tk

Explain the principle of operation and construction of shaded pole induction motor

,{S@— : 6M

i
a i

Shaded pole mators explanation

Figure
g 3m

i

[P

e

Expiain the working of capacitor-start type singie phase mductlon motor
capacitor-siart type motors explanation

Figure M
6M
OR
Explain the working principle of A. C. servo motors
with neat sketches
Warking principle m LM ™
Srhematic o1 Jerve Syttem
Differentiate between single phase and three phase induclion motors
Single Phase Induction Motor Three Phase Induction Motor
The AC asynchronous motor that runs on single phase | AC asynchronous motor that runs on three phase
AC power supply. AC power supply.
Ithas 2 terminals thus it requires only two wires to power | It has 3 terminals and requires three or four N“a’
it up. (including neufral) wires to operate. S Bints
Itis not a self-start mator. Itis a self-start motor. -
Their types include; Spilt phase, shaded pole, capacitor { Their types are; squirrel cage induction motor
slart, capacitor start capacitor run induction motor elc. and wound type induction motor.
It generates mechanical noise and vibration, it operates smoothly with less noise,
Its efficiency is lower. It has high efficiency.
It offers very limited starting torque. It offers very high starting torque.
Its design is simple and easier to construct It design is complex.
Its maintenance is very easy. Its maintenance is relatively difficult.
itis cheaper. It is expensive.
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Semester End Supplementary Examination, October, 2021

Degree B. Tech. (U.G) Program CSE/CSMICSD Academic Year

Course Code  20CS101 TestDuration ~ 3Hrs. Max. Marks 70 Semester

Course FUNDAMENTALS OF COMPUTER SCIENCE

Part A (Short Answer Questions 5 x 2 = 10 Marks)

No.  Questions {1 through 5) Leaming Qutcome {s)
1 List any two memory types 20C81011
2 Wiite the Difference between Compiler and Interpreter 20C5101.2
3 Whatis an operating System 20C5101.3
4  Define Database view 20C5101.4
5 \é\;l:st is Artificial Intelligence? Give an example of where Al is used on a daily 20CS101.5

Part B {Long Answer Questions 5 x 12 = 60 Marks)

No.  Questions (6 through 10) Marks  Leaming Oulcome (s}

6(a) Discuss input and output devices wilh examples 6M 20C5101.1

How the Communication between the CPU and Inputoulput
6 (b} devices? Explain 6M 20C5101.1
OR
How the Hardware, Software, and people are involved in effective

7(a) usage of a computer. Justify in your observations il CUEAIIR

lustrate Data Preparation? Discuss the factors that are to be

7(0) considered while selecting input device L CUESRIL

List all conditional control statements used in C. Explain any two
8(a) with syntax and example i G
Wiite a C program to find the faclorial of a number using do-while,
8(b) where the number n is entered by user 6t 2081012
OR
9(a) Efe;' r(‘:?r Q!egonthm Write an algorithm to find the area and perimeter oM 20C5101.2
What are basic data types available in “C*? Write the significance
9 (b) of each data type 6M 20Cs8101.2
10(a) With a neat diagram, explain OSI reference model 12M 20C8101.3
OR
11(a} Write any four functionalities of an operating system 4M 20C05101.3
11(b) Explain star and ring topologies 8M 20C5101.3
Write the advantages & Disadvantages of Database approach
12a) over File-oriented approach . LIS,
12(b) Explain Object-oriented Data Mode &M 20C5101.4
OR
What is a Database Management System? Explain various

13(a) components of it 8M 20051014

13(b) Explain Network model Vs Relational madel 4M 20C5101.4

14{a) Explain the current trends in Al &M 20C5101.5

14 (b) Wrile the various Applications of machine leaming &M 20CS101.5

OR
15(a) Discuss the developments of Al languages &M 20C5101.5
15(b) What are the ingredients of machine leaming? Explain &M 20C5101.5
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Course Code 20C5101 TestDuration  180Min. | Max. Marks 70  Semester !
Course FUNDAMENTALS OF COMPUTERSCIENCE
Key and Scheme of Evaluation
No. Questions (1 through 5) Marks
List any two memory types
1 Primary memory CE:;”E%AM
Secondary memory
Write the Differance between Compiler and Interpreter
Interpreter Compiler
Transtates program one statement at o Scans the entire program anc
time, as a whole into mauchine code
intarpreters usually take less amount of Compilers usually take alarge  content 2M
& time to analyze the source code. Time to analyze the source ¢o
However, the overall execution time is However, the overall executio
compuaratively slower than compilers. comparatively fastar than int
G tes Object Codewh
No Object Code is generated, hence are ene'zrc els : ject lLocew !c
e requires linking, hence require
maemaory efficient.
memaory.
What is an operating System
3 An operating system (OS) is system software that manages computer hardware, software Content 2M
resources, and provides common services for computer programs.
Define Database view
A database view is a searchable object in a database that is defined by a query. Though a view Content 2M
4 doesn't store data, some refer to a views as "virtual tables,” you can query a view like you can a Each 1M
table. A view can combine data from two or more table, using joins, and also just contain a subset
of information
What is Artificial Intelligence? Give an example of where Al is used on a daily basis
Artificial intelligence (Al) is the ability of a computer program or a machine to think and leam. It is
also a field of study which tries to make computers "smart”. ... In general use, the lerm “artificial
intelligence” means a programme which mimics human cognition.
5 + Self-Driving And Parking Vehicles. Self-driving and parking cars use deep leaming, a Definition1M
subset of Al, to recognize the space around a vehicle. ... Example 1M

Digital Assistants. ...

Vehicle Recognition Identificaticn. ...
Robots. ...

Transportation,



No.

6 (a)

6 {b)

71{a)

71b)

Questions (6 through 11)
Discuss input and output devices with examples
INPUT DEVICES: Following are some of the imporiant input devices which are used in a
computer -
1. Keyboard 2Mouse 3.Joy Stick 4.Light pen 5.Track Bali 6.Scanner 7.Graphic Tablet
B.Microphone 9.Magnelic Ink Card Reader(MICR) 10.Optical Character Reader(OCR)
11.Bar Code Reader 12.0Oplical Mark Reader{OMR)
Light Pen
Light pen is a pointing device similar to a pen. It is used to select a displayed menu item or draw
pictures on the moniter screen. 1 consists of a photocell and an optical system placed in a smail
tube.
Track Ball
Track ball is an input device that is mostly used in notebook or laptep computer, instead of a
mouse. This is a ball which is half inserted and by moving fingers on the ball, the pointer can be
moved. ball is an input device that is mostly used in notebaok or |aptop computer, instead of a
mouse,
Magnetic Ink Card Reader {MICR)
MICR input device is generally used in banks as there are large number of cheques to be
processed every day. The bank's code number and cheque number are printed on the cheques
with a special type of ink that contains pariicles of magnetic material thal are machine readable.
OUTPUT DEVICES:
Following are some of the important output devices used in a computer.
= jvionitors
= Graphic Plotter
» Printer

Monitors

Monitors, commonty called as Visual Display Unit (VDU), are the main outpul device of a
computer. It forms images from tiny dots, called pixels that are aranged in a rectangular form. The
sharpness of the image depends upon the number of pixels.

How the Communication between the CPU and Input/output devices? Explain

s The communication between the IOP and the devices is similar to the pregram control
method of transfer. And the communication with the memory is similar to the direct
memory access method,

s In large scale compulers, each processor is independent of other processors and any
processor can initiate the operation.

e The CPU can act as master and the ICP act as slave processor. The CPU assigns the
task of initiating operations but it is the IOP, who executes the instructions, and not the
CPU. CPU instructions provide operations to start an I/Q transfer. The IOP asks for
CPU through interrupt.

e Instructions that are read from memory by an |OP are also called commands to
distinguish them from instructions that are read by CPU. Commands are prepared by
programmers and are stored in memory. Command words make the program for 1OP.
CPU informs the ICP where to find the commands in memory,

OR
How the Hardware, Software, and people are involved in effective usage of a computer.
Justify in your observations

Hlustrate Data Preparation? Discuss the factors that are to be considered while selecting
input device

Each device
Explanation 1M

Explanation 6M

Explanation 6M

Explanation 6M
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cxaminations, the grades obtained make up the data to be processed by the

computer. When cjistomers make withdrawals or deposits at a bank, the slips
filled out are the sources of the data. When people fill out questionnaires, the
answers to the quedtions are the data. In the majority of cases, the original data
1snotin a form which can be readily processed by the computer, For instance, the
computer cannot ‘read’ the answers directly from the questionnaires. The data
must first be converted into machine-readable form. A farge proportion (30% to

30%) of computing costs is spent on this conversion, which is called data

preparation, -

For a typical application, the following steps need to be performed:

(D The data from the source documents is entered on the chosen medium
(for example disk, tape or cards) by a data entry operator.

(2)  The data entered is then verified. The usual procedure is for another
operator to re-enter the same data. The operatoris toid of any mismatch
bctv_vcen _thc first and sccond entry. The errors noted are then corrected
Venﬁc;.mon can also be done by the original operator, who keys in thé
data twice; onlyif the two entries match js the data recorded. Otherwise
the data has to be re-entered until there is no mismatch ’

(3)  Theresultofstep2isthat the data isnowin machine-readabl fi
dataistheninputtothec it - iatei s The
' ninp hie computerusing an appropriate input device, Fo
Instance, if the data is stored on a magnetic disk, a disk drive jg At
reag the cclhm'l from the disk; if the data is rccord(’:d on punche:i ::::st?l
card- .
ci:n px::t:; :r i5 used to read the cards and trangmit thedatatothe

(4)  Usualty, the first attempt at processing the data uncovers errors whicﬁ

escaped detection at the verification stage. For example Suppose the
. H

Acannthae asveamal. o+

List all conditional control statements used in C, Explain any two with syntax and example
In C, we have 32 standard keywords and out of them 12 {the keywords in the second column
of the following table) are control statements,

These statements control the flow of the program and out of them some are selection
statements, some are iterative statements and some other are jumping statements.
If Statements
If statement enables the programmer to choose a set of instructions, based on a condition.
When the condition is evaluated to true, a set of instructions will be executed and a different
set of instructions will be executed when the condition is evaluated to false, We have 4 types
of if Statement which are:
1, If..else
2. Nested if
3. Else if ladder
4. Simple if or null else
5. Null else or Simple lse
f...else Statement

In this statement, there are two types of statements execute. First, if the condition is true first
statement will execute if the condition is false second condition will be executed.

Syntax:

Definition 1M
explanation 5M




If(condition)
Statement(s);
glse
Slatement(s)

Statement
tasted if
If the condition is evaluated to true in the first if statement, then the condition in the second if
slalement is evaluated and so on.
Syntax:
If{condition)

{
If{condition)

Statement(s);

!
Else

Statement(s)

}

Write a C program to find the factorial of a number using do-while, where the number n is
entered by user

#include<stdio.h>

#include<conio.h>

vaid main()

{
int n,i=1,f=1;
clrscr();

printf("\n Enter The Number:");
scanf(*%d" &n);

8(b) {LOOP TO CALCULATE THE FACTORIAL OF A NUMBER Program 6M
do

f=fi;
i+t
Jwhile{i<=n);

printf{(*\n The Faclorial of %d is %d".n,f);
getch(}
}

De

OR of

%(a) What are basic data types available in “C"? Write the significance of each data type
Main types. The C language provides the four basic arithmetic type specifiers char, int, fioal and  Explanation 6M




9(b)

double, and the modifiers signed, unsigned, shori, and long. The following table lists the
permissible combinations in specifying a large set of storage size-specific declarations

Data type | Range
int | ] -
| signed Int -32,768 to 32,767
i unsigned int 010 65,535
| short int. " ._ |
[ s-igr-\ed short int | -2,147,483,643 10 2,147,483,647 (4 bytes)
I unsigned shart int I 0 to 4,294,967,295 (4 bytes)
long Int '
. signed long int -2,147,:183,648 to 2,147,483,647 (4 bytes)
j- unsigned fong int Oto .4‘294.5.}67.295 {4 bytas)

Define Algorithm. Write an algorithm fo find the area and perimeter of a circle
The definition of an algarithm is a specific and logical procedure to be followed in order to achieve
specific results, or to solve a math problem

Area of Circle Algorithm:
Step 1; Start g
. Algorithm 1M
Step 2: Input radius .
Step 3: lel pi = 3.14 Explanation SM
Step 4: area = pi * radius * radius
Slep 6: print area
Step 7. stop
With a neat diagram, explain O8] reference model
Diagrams-
The Physical Layer: (4M)_
The towest layer of the OS] reference model is the physical layer. 1t is Explanation
responsible for the actual physical connection between the devices. The -(6mM)
physical-  layer  contains  information in the  form  of  hits
Trr e g .*'H'Ef_ o . o ‘_-gﬂ' 15
o *ﬁ”@éﬁ%
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Write any four functionalities of an operating system
Important functions of an operating Syslem:
1. Security -
The operating system uses password protection fo protect user data and similar other
techniques. it also prevents unauvthorized access to programs and user data.

2. Control over system performance -
Monitors overall system health to help improve performance. records the response lime
between service requests and system response to having a complete view of the system
health. This can help improve performance by providing imporlant information needed to

troubleshoot problems,
1 .
3. Job accounting - .
(a) Qperating system Keeps track of time and resources used by various lasks and users, Explanatian 4M
this informalion can be used to track resource usage for a particular user or group of
users.
4, Error detecling aids -
The operating system constantly monitors lhe system to detect emors and avoid the
malfunctioning of a computer system.
5. Coordination between other software and users -
Operafing systems also coordinate and assign interpreters, compilers, assembiers, and
other software {o the various users of the computer systems.
Explain star and ring topologies
Star Topology:
1 In a star topology, each device has a dedicated point-ta-point fink anly to a central controller, Explanation (8M)
{b) usually called a hub. The devices are not directly linked toone another, Unfike a mesh Each topology( 4M)

topalogy, a star topology does not allow directiraffic between devices. The controller Zcts as
an exchange: If one device wantsto send dala to another, it sends the data to the controller,




which then relays the data to the other connected device .

Ring topology

In a ring topology, each device has a dedicated point-to point connection with only the two
devices on either side of it. A signal is passed along the ring in one direction, from device to
device, untilit reaches its destination. Each device in the ring incorporates a repeater.

When a device receives a signal intended for another device, its repeater regenerates the bits
and passes them along

Hub
Pty -',‘
T T ey _....‘...f.:‘ A A ,:-h Tyt Ty 1:
Station [ Station [§} | Station |3 Station

Write the advantages & Disadvantages of Database approach over File-oriented approach

S.NO.  File System DBMS

File system is a software that manages and organizes DBMS is a software for

1. the files in a storage medium within a computer. database.
2 Redundant data can be present in a file system. In DBMS there is no redu
It doesn't provide backup and recovery of data if it is It provides backup and re
3. lost. even if it is last.
12(a) s:ﬂplanatlon
Efficient query processing
4, Thera is no efficient query processing in file system. DBMS,

There is more data consi:
There is less data consistency in file system. of the process of normali;

en

it has more complexity in
8. Itis less complex as compared to DBMS. compared to file system.

File systems provide less securily in comparisen fo DBMS has mare security
i DBMS. compared to file system.




12(b)

13(a)

It has a comparatively higher cost than a
8 It is less expensive than DBMS. file system.

Explain Object-oriented Data Mode
object oriented data mode! is based upon real world situations. These situations are
represented as objects, with different attributes. All these object have multiple relationships
hetween them.
Elements of Object oriented data model
Oblects
The reat world entities and siluations are represented as objects in the Object oriented
database model,
Attributes and Method
Every object has certain charactesistics. These are represented using Altributes. The Explanation 6M
behaviour of the objects is represenled using Methads.
Class
Similar attributes and methods are grouped together using a class. An object can be called
as an instance of the class.
Inheritance
A new class can be derived from the original ciass. The derived class contains atiributes
and methods of the original ctass as well as its awn.

What is a Database Management System? Explain various components of it

COMPONENTS OF DBMS

DBMS have several components, gach perfarming very significant tasks in the
database management system environment. Below is a list of components within the
database and its environment.

e

a
Software

This is the set of programs used to control and manage the overall database. This
includes the DBMS software itself, the Operating System, the network software
being used to share the data among users, and the application programs used to
access data in the DBMS.

45 Each 2M
Q‘ Total 8M

Hardware

Consists of a set of physical electronic devices such as computers, /O devices,
storage devices, etc., this provides the interface between computers and the real
world systems.

e

ESE )

Data

DBMS exists to collect, store, process and access data, the most important
component. The database contains both the actual or operational data and the
metadata.

@

Procedures




These are the instructions and rules that assist on how to use the DBMS, and in
designing and running the database, using documented procedures, to guide the
users that operate and manage it.

Database Access Language

This is used to access the data to and from the database, to enter new data, update
existing data, or retrieve required data from databases. The user writes a set of
appropriate commands in a database access language, submits these to the DBMS,
which then processes the data and generates and displays a set of results into a
user readable form.

.

Query Processor

This transforms the user queries into a series of low level instructions. This reads the
online user's query and transtales it into an efficient series of operations in a form
capable of being sent to the run time data manager for execution.

- i
P W

f
\of b

&
Run Time Database Manager
Someiimes referred to as the database control system, this is the central software
component of the DBMS that interfaces with user-submitted application programs
and queries, and handles database access at run time. Its function is to convert

operations in user's queries. I provides control to maintain the consistency, integrity
and security of the data.

Data Manager
Also called the cache manger, this is responsible for handling of data in the

database, providing a recovery to the system that allows it to recover the data after a
failure.

Database Engine
The core service for staring, processing, and securing data, this provides controlled
access and rapid transaction processing to address the requirements of the most

demanding data consuming applications. !t is often used to create relational
databases for online transaction processing ar online analytical processing data.

Data Dictionary

This is a reserved space within a database used to store information about the
database itself. A data dictionary is a set of read-only table and views, containing the
different information about the data used in the enterprise to ensure that database
representation of the data follow one standard as defined in the dictionary.

TS

Report Writer




Also referred to as the report generator, it is a program that extracts information from
one or more files and presents the information in a specified format. Most report
writers allow the user to select records that meet certain conditions and to display
selected fields in rows and columns, or also format the data into different charts.

Explain Network model Vs Relational mode!
Network Data Model Relational Data Model

It organizes records in form of table and
It organizes records {o one another relationship between tables are set using

through links or pointers. common fields.

13(b) Explanation-4M
It organizes records in form of
directed graphs. It organizes records in form of tables.

In this relationship between various
records is rapresented physically via  In this relalionship between various
linked list, records is represented logically via tables.

Explain the current frends in Al

Greater Cloud and Al collaboration

Rico Burnett, the director of client innovation at legal services provider Exigent, says that

Artificial Intelligence will play a significant role in the broad adopion of Cloud Solutions in

2021. Through the deployment of arificial intelligence, it will be possible to manitor and

managsa cloud resources and the vast amount of available data.

2, Al solutions for IT

The number of Al sofutions that are being developed for T will increase in 2021.

Capgemini's Simion predicts that Al solutions that can detect common T problems on ils

own and self-correct any small malfunctions or issues will see an increase in the upcoming

years. This will reduce downtime and allow the teams in an organisation to work on high-

complexity projects and focus elsewhere.

AlOps becomes more popular

Qver the last few years, the complexity of IT systems has increased. Forrester recently said

that vendors would want platform sclutions that combine more than one monitoring

discipline such as application, infrastructure, and netwaorking. IT operalions and other teams

can improve their key processes, decision making, and tasks with AlOps solutions and
14(a) improved analysis of the volumes of data coming its way. Forrester advised the IT leaders.  Explanation-6M

to find AlOps providers who will empower the cross-team collaboration through end-to-end

digital experiences, data corelation, and integration of the IT operations management

toolchain.

4, Al will help in structuring data

In the fulure, we will see more unstructured dala is structured with natural language

processing and machine leaming processes. Organisalions will leverage these

technologies and create data that RPA or robotic process automation technology can use

when they want to automate transactional activity in an organisation. RPA is one of the

fastest-growing areas in the software industry. The only limitation that it faces is that it can

only use structured dala, With the help of Al, unstructured data can easily be converted into

structured data, which can provide a defined output.

5. Artificial intelligence talent will remain tight

The supply of talent is expected to be an issue in adopting artificial intelligence in 2021.

There has been a persistent gap in Al talent, and organisations have finally realised this

polential. It is essential to address this gap and ensure that a wider group of people leam

artificial intelligence. Ensuring that a broader set of users have access to aificial

intelligence to focus on technology, fearning strategies, and supporting a change in the




working environment is essential in 2021.

6. Large scale adoption of Al in the iT industry

We have seen conlinuous growth in adoption of Al within the IT industry. However, Simion
predicts that organisations will use Al in praduction and start using them at a large scale.
With the help of artificial intelligence, an organisation can get RO in real-ime. This means
that organisations will see their efforts being paid off.

Write the various Applications of machine leaming
Image Recognition:
image recognition is one of the most common applications of machine leaming. Itis used to
identify objects, persons, places, digital images, efc. The popular use case of image
recognition and face detection is, Automatic friend tagging suggestion:
Facebook provides us a fealure of auto friend lagging suggestion, Whenever we upload a
photo with cur Facebook friends, then we automalically gel a tagging suggestion with name,
and the technology behind this is machine leaming's face detection and recognition algorithm.
Itis based on the Facebook project named "Deep Face,” which is responsible for face
recognition and person identification in the picture.

Programmer motivation (or how to stay motivated when leaming to code)

2. Speech Recognition

While using Google, we get an option of "Search by voice,” il comes under speech
recognition, and it's a popular application of machine learning.

Speech recognition is a process of converting voice instructions into text, and it is also known
as "Speech fo lext’, or "Computer speech recognition.” At present, machine leaming
algorithms are widely used by various applications of speech recognition. Google

assislant, Siri, Cortana, and Alexa are using speech recognilion technology to follow the voice
instructions.

3. Traffic prediction;

If we want to visit a new place, we take help of Google Maps, which shows us the correct path
with the shortest route and predicts the traffic condifions.

It predicts the traffic conditions such as whether traffic is cleared, slow-moving, or heavily
congested with the help of two ways:

Real Time location of the vehicle farm Google Map app and sensors

Average time has taken on past days at the same time.

Everyone who is using Google Map is helping this app to make it belter. li fakes information
from the user and sends back to its database to improve the performance.

4, Product recommendations:

Machine learning is widely used by various e-commerce and entertainment companies such
as Amazon, Nelflix, etc., for product recommendation to the user. Whenever we search for
some product on Amazon, then we started getting an advertisement for the same product
while intemnet surfing on the same browser and this is because of machine leaming.

Google understands the user inlerest using various machihe learning algerithms and suggests
the preduct as per customer inlerest.

As similar, when we use Netflix, we find some recommendations for entertainment series,
movies, etc., and this is also done with the help of machine learning.

5. Self-driving cars:

One of the mast exciling applications of machine learning is self-driving cars. Machine
learning plays a significant role in self-driving cars. Tesla, the most popular car manufacturing
company is working on self-driving car. If is using unsupervised leaming methed to train the
car models to detect people and objects while driving.

filters used by Gmail.

Content Filter

Header filter

General blacklists filter

14(b) Explanation-6M




Rules-based filters

Permission filters

Some machine leaming algorithms such as Mulii-Layer Perceptran, Decision tree, and Naive
Bayes classifier are used for email spam filtering and malware detection,

Discuss the developments of Al languages

. Python

Pythen is considered to be in the first place in the list of ali Al development languages due
to the simplicity. The syntaxes belonging to python are very simple and can be easily leamt.
Therefore, many Al algorithms can be easily implemented in it. Python takes short
development time in comparison to other languages like Java, C++ ar Ruby. Python
supports object criented, functional as well as procedure oriented styles of programming.
There are plenty of libraries in python, which make our tasks easier. For example: Numpy is
a library for python that helps us to solve many scientific computations. Also, we have
Pybrain, which is for using machine leaming in Python,

2. R
R is one of the most effeclive language and environment for analyzing and manipulating the
data for statistical purposes. Using R, we can easily produce well-designed publication-
quality plot, including mathematical symbols and formulae where needed. Apart from being
a general purpose language, R has numerous of packages like RODBC, Gmodels, Class
and Tm which are used in the field of machine learing. These packages make the
implementation of machine leaming algorithms easy, for cracking the business associated

problems.
3. Lisp
15(a) Lisp is one of the oldest and the most suited fanguages for the development in Al k was  Explanation-each
invented by John McCarthy, the father of Artificial Intelligence in 1958. It has the capability 2M
of processing the symbolic information effectively.

It is also known for its excellent prototyping capatilities and easy dynamic creation of new
objects, with automatic garbage collection. Its development cycle allows interactive
evaluation of expressions and recompilation of functions or fite while the program is still
running. Over tha years, due to advancement, many of these features have migrated into
many other languages thereby affecting the uniqueness of Lisp.
4. Prolog
This language stays alongside Lisp when we talk about development in Al field. The
features provided by it include efficient pattern matching, lree-based data structuring and
aulomatic backtracking. All these features provide a surprisingly powerful and flexible
programming framework. Prolog is widely used for werking on medical projects and also for
designing expert Al systems.

5. Java

Java can also be considered as a good cheice for Al development, Arificial intelligence has
lot to do with search algorthms, arificial neural networks and genetic programming. Java
provides many benefits: easy use, debugging ease, package services, simplified work with
large-scale projects, graphical representafion of data and hetter user interaction. It also has
the incorporation of Swing and SWT (the Standard Widget Toolkit). These tools make
graphics and interfaces look appealing and sophisticated.

What are the ingredients of machine learning? Explain
Machine leaming is purely mathematical. Thers are different fields of math involved, with
the major ones being lingar algebra, calculus, and statistics. ML deals heavily with matrix
15(b) and vector manipulation since dala can be easily represented in these formats.

The prime goal of all machine learning algarithms is to intake some data and adjust welghts
in an equation 1o best fit the data. It's not as complex

1. Tasks: the problems that can be solved with machine learning 2. Models: the output of
machine leaming 3, Features; the workhorses of machine leaming

Explanation-6M
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Semester End Supplementary Examination, October, 2021

Degree B. Tech. (U.G)  Program ECE Academic Year 2020 - 2021
Course Code  20BSX23 Test Duration 3Hrs. Max. Marks 70 Semester |
Course APPLIED CHEMISTRY
Part A (Short Answer Questions 5 x 2 =10 Marks)
No.  Questions {1 through 5} Leaming Ouicome (s) DoK
1 Define Polymer 20B5X23.1 L1
2 Differeniiate primary cell from secondary cell? 20B5X23.2 L2
3 Give the molecular orbital electronic configuration of O2 molecule 20B5X23.3 L2
4 What is electromagnetic spectrum and give its range? 20B8SX23.4 L1
5 What is molecular modefing? 20B5X23.5 L1
Part B {Long Answer Questions 5x 12 = 60 Marks)
No.  Questions (6 through 15) Marks Learning Outcome (s} DoK
6(a) Differentiate addilion polymerization from condensation polymerization &M 20BSX23.1 L2
Write the preparation properties and applications of
6 (b) i. Nylon 6, 6 ii. urea formaldehyde oM Gl L
OR
7(a) Write the mechanism of free radical chain polymerizalion &M 20B8X23.1 L2
What are conducting polymers? Write about conducting polymenization
7{b) of polypymale? 6M 20BSX23.1 L1
8(a) Explain the construction & working of Lithium-ion battery &M 20BSX23.2 L2
8(b) Derive the Nemst equation for a single elecirode polential &M 20BSX23.2 L2
OR
9(a) (I;:;;I:alain construction, working and applications of methancl-oxygen fuel 6M 20BSX23.2 L2
Define conductometric litrations? Discuss conductometric tilrations of
9(b) strong acid Vs slrong base and explain the nature of the graphs  6M 20B5X23.2 L2
between conductance and volume of titrant used
Explain the energy level diagrams of CO and NO molecule. Explain
104a) their magnetic nature and bond order G GUER A B
10(b) Give the postulates of plank’s quantum theory 5M 20BSX23.3 L2
OR
What is crystal field theory? Explain the crystal field splitting in
e {etrahedral complexes L G e
11(b) Draw the band diagrams of conductors, semiconductors and insulators ~ 6M 20BSX23.3 L2
12(a) Write a short note on Nuclear magnetic resonance 5M 20B8SX23.4 L2
12 (b) Explalp principle and instrumentation of UV-visible spectroscopy with ™ 20BSX23.4 L2
neat diagram
OR
13 (a) Exptain the principle and instrumentafion of High performance liquid M 20BSX23.4 L2
Chromatography
Explain the pH metric metheds help to delermine the endpaint in acid-
13 {b) base litration 6M 20B5X23.4 L2
14 a) Wriie 9bout supra molecular reactivity and catalysis, Self-assembly in ™ 20BSX23.5 L1
biological systems
14 (b) Whatis basic lock and key principle? 5M 20B3X23.5 L2
OR
15(a) List any four applications of Catenands 4M 20BSX23.5 L1
15 (b) Discuss about cation binding, anion binding and simultaneous calion aM J0BSX23.5 L2

and anion binding
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semester End Supplementary Examination, October, 2021

Degree B.Tech. (U.G) | Program ECE | Academic Year | 2020-2021 |
Course Code ~ 20BSX23 Test Duration  3Hrs. Max, Marks | 70 Semester : |
| Course APPLIED CHEMISTRY Conama Th Vol ol Y
Part A (Short Answer Questions Sx2= 10 Marks)
No. Questions (1 through 5) L earning Outcome (s) DoK
1 Define Polymer- 2 marks R 20B5X23.1 &}
Differentiate primary cell from secondary cell? : '
i~ 2 Primary cell-1 mark secondary cell- 1 mark 208?&3.2 ; L2 |
Give lhe molecular orbital electronic configuration of Oz molecule ' -
= _3 Energy level diagram and configuralion wilh order -2 marks 2058)(23‘3_ . L2 |
What is electromagnetic spectrum and give its range?
4 | VIBGYOR- 200800 Am a8sx234 | M
| What is molecular modeling? I
| 8 Mathematical description and design from MOPAC and Gaussion 20BSX235 : o
| Part B (Long Answer Questions 5x 12=60 Marks) _ |
" No.  Questions (6 through 15) . Marks Leaming Outcoms (s) | Dok
. Differentiate addition polymerization from condensation polymerization | :
6(a) addition polymerization-3 marks &M 20BSX23.1 : L2

condensation polymerization - I marks
= Write the preparation properties and applications of
| 61{b) i. Nylon 6, 6 - 3marks - 6M 2088X23.1 L1
il ii. urea formaldehyde- marks :
OR
Write the mechanism of free radical chain polymerization
. 7{a) Catylast-2 . | &M 208SX23.4 | L2
| 3 STEPS-3 marks equation-1 -
What are conducting polymers? Wite about conduciing polymerization |
7(0) %fe"ﬁ?gﬁgﬂﬂ ks oM ooRSX234 | U
Mechanism-4 marks

Explain the construction & working of Lithium-ion battery i [
. 8(a) ' Construction- 2marks &M 208SX23.2 12
Working — 2 marks chemical equations-2 marks
| Derive the Nernst gquation for a single electrode potential -
8(p) E= £0-0.0591/n Log(P}(R}-3 MARKS | 6M 20BSX23.2 | 12
: Derviation-3 marks | '

OR
Explain construction, working and applications of methanal-oxygen fuel
cell -
| 9{a) Construction-2 &M 20BSX23.2 2
Working-2 .

and applications of methanol-oxygen-2 marks

Define conductomelic titrations? Discuss conductomelric fitrations of
strong acid Vs strong base and explain the nature of the graphs
between conductance and volume of titrant used

Defination-2 marks

Graph-2 marks

Explanation-2

9(b) 6M ooesx232 | 12

Explain the energy level diagrams of CO and NO molecule. Explain
their magnetic nature and bond order

10(a) COMOT-2 marks 7 208SX23.3 L2
NO MOT-2 marks

- Magnetic-1 mark bond order -2 mark




' 10(b)

11(a)

11 (b)

12(a)

12(b)

13(a)

13 (b)

14 (a)

14 (b)

15(a)

15 (b)

Give the poslulates of plank's quantum theory

E=hV -2 theory-3 marks o
OR

What is crystal field theory? Explain the crystal field splitting in

tetrahedrat complexes

Defination-2 marks

Splitting- 2marks tetrahedral diagram-2 marks

Draw the band diagrams of conductors, semiconductors and insulators

band diagrams of conductors- 2 marks

semiconductors - 2 marks and insulators-2 marks

Wrile a short nole on Nuclear magnetic resonance
Instrumentation- 3 marks
Spectrum-3 marks
Explain principle and instrumentation of UV-visible spectroscopy with
neat diagram
principle -2marks
a instrumentation of UV-visible spectroscopy with neat diagram-3
marks
working-2 marks
"OR
Explain the principle and instrumentation of High performance liquid
Chromatography
principle -2marks
ainstrumentation of HPLC with neat diagram-3 marks
warking-1 mark
Explain the pH metric methods help to determine the endpaint in acid-
base litration
pH -instrumentaion-3 marks fitration with graphs-3 marks

Wrile aboul supra molecular reactivity and catalysis, Self-assembly in
biological systems
supra molecular reactivity-2 marks and catalysis,-2 marks
Self-assembly in biclogical systems- 3 marks
What is basic lock and key principle?
Lock -3marks key -3 marks with principle

OR

List any four applications of Catenands

Apllications of 4 Catenands-4 marks

Discuss about cation binding, anion binding and simultaneous cation
and anion binding

cation binding,- 2 marks anion binding- 2marks and

simultaneous cation and anion binding- 4 marks

5M

&M

&M

M

6M

&M

™

M

M

am

20BSX23.3

20BSX23.3

20B5X23.3

20B85X23.4

20B5X23.4

20BSX234

20BSX23.4

20B3X23.5

20B3X23.5

20BSX23.5

20B5X23.5

L1

L1
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Semester End Supplementary Examination, October, 2021

Degree B. Tech. (U. G) Program Common to All Academic Year = 2020 - 2021
Course Code 20ESX02 TestDuration  3Hrs. Max Marks 70 Semester il
Course FROGRAMMING FOR PROBLEM SOLVING USING ‘/C’

Part A (Short Answer Questions 5 x 2 =10 Marks)

No.  Questions (1 through 5) Learning Quicome (s) DoK
1 Define Algorithm 20ESX02.1 Lt
2 Wirile the syntax of switch statementin C 20ES8X02.2 Lt
3 Define an array and give an example 20E5X02.3 Lt
4 What are Preprocessor directives? Give examples 20ES5X02.4 L1
5 List various lexi file apening modes 20ESX02.5 L1

Part B {Long Answer Questions 5 x 12 = 60 Marks)
No.  Questions {6 through 15) Marks  Leaming Qutcome (s} DoK
6(a) Wiite the algorithm and comespanding flowchart to find the given

number is Prime number or not = ALS24 =
6(b) Explain all the data types with their ranges, examples 6M 20ESX02.1 L2
OR
7(a} Explain different categories of operators and their precedence M 20E5X02.1 L2
Write a program in C to find the prime numbers within a range of
numbers. Sample Input/ Quiput:
Input starting number of range: 1
7{®) Input ending number of range : 50 = Llsa ey o
Expected Output : The prime number between 1 and 50 are 235
7111317192329 31 37 414347
8(a) ml;ear: program in C lo display the multiplication table of a given aM 2OESX02.2 L2
8(b) Describe the loop conirol statements in C 8 20E5X02,2 L3
OR
9(a) ‘é\'&t{i hac:paréaag.;ram to display week days for a given digit (1-7) using M 20ESX02.2 13
8(b) . Describe any three storage classes 6M 20E5X02.2 1
Write C program that uses both recursive and non-recursive
10(a) functions ta find the sum of n natural numbers e 208SK02.3; L2
Wrile C program to read a list of elements into an array and print
L0 the reverse of the list. L 20ESX02.3 L2
OR
Write a program in C to check whether a number is a prime
11(a) number or not using the function. Example : Input a positive  4M 20ES5X02.3 L2
number : 5 Expected Qutput : The number § is a prime number
11(b)  Explain built-in string handling functions M 20ESX02.3 L2
12(a} What are pointers? Describe pointer arithmetic with examples 6M 20ESX02.4 L2
12(b)  Explain call by reference mechanism with an example program M 20ESX02.4 L2
OR
Compare the differences between structure and union. Explain
13 usage of shucture in terms of definiion, declaration and  12M 20ESX02.4 L2

accessing members with syntax and example



14{a)

15 (a)
15(b)

Describe file handling functions

Write a C program to read a text file “sample.ix” and print the

following.

a) Substring of N characters from the position |

b) Reverse order of substring of N characters produced in a
OR

Describe pre-processor directives
Write a program for adding two integers and display the sum by
laking input through command line arguments

am

M

6M
&M

20ESX02.5

20ES5X02.5

20ESX02.5
20ESX02.5

L2



SC heme Uﬁ, veduad o

Covrse: R Teeh(V €) v T
. \ C; * ?
Sub s %U—aww\- ey %Ob\gm Sﬁ\"t“ 'F'S\‘ Y - c’ :f Buwdion: 2&“
Covsse. (ode, 2o EsYo2 j a PG
icmL‘_,q-c_ Yeert 20be-2f =emo T
Port — A
C,S’kogm:::;)gx}_: 1€ ~
! e ¢ 7
) F\L?A‘U‘E'L DL‘L"V\U&"“"\ — S _mosxtty -
*2> Sk c}l)' Sllah Stakem-k ~ ZEGANASS €
9 poreg DefnedFon tafl tyample — 2mees
L muyfes

Pre preless AN wekivers & Eroamplen —
LQ ﬁind»-ok/ ot Aepivy, @ib-‘) #l‘f!,wlc.\-
— ey ly .

) Tekfile oredy el

(5, w0t 2D

’E&l‘i&‘
S wir= 69 mexks
> TS “

6 O P\\jzm“'l'km — M
WQM’KE — M

- W) DedkaTyPes  —— - mhaves.
ik Cher, ok, dobll)
ex—
(lovwged> 2 e
| ~awles

@ pamfh ™
(o%)
Y peruikeS = S é""\
A HurrXic, }E:Pos'«'(ow-k/ ‘j;\truw*—dk/bc_qhﬂthf Assigumk
e Covaition grb At TRYE
Lmou'h’"-.s

'<? CZ) P‘hﬂ‘c_ WU b l/-vh.ueef\ | to ST - L(C_A/\

Prdfj?fﬁd“



% (@)

|6 (_cu)

),

IRGY,

W)

Dxcfﬂ*‘““ te GLCN";Z o L U catron —+ebls —lpm

/[ <P CWD’C?&L Lo et v

LoV~ Lem P
-bvxf [ «oP — &m™M
e - o Mo

(@)

()mu’:jxam o AP Loes fiy‘-A 1‘)"’” 0\.2"(""“ At
C,]“ ug'\(vj Stk (e =—— &

< o v Clessen
/o ke
j’cy’yﬂ‘( — M.
€ e L=
Sterne

@Y"j'ﬁ“”‘ \)—J{ S v UL~ V\o\kmr‘\}\ wumhern .

\Tv:t'k yeuwdtWL T N

AN W ecura e

> ayesa ke 4 et (W Sw

: CQS'B L prz\-ﬂ‘c Ho o) ML Syevenre ooy
N AP

@

Dzﬂr’]ww\ %—rf 5/\\”’“ TP PSS N wunder 25

vk Us(‘y, &uvdﬁm — Lo

@\1( [4 — 0~ gﬂ"ﬁ. At A““”‘H"") ‘
L lewl)
-

Smﬂrcv&)
g‘chmP()
Sew [Lx0)
CkruPew( )
S ts (k)

.



(2 (&)

\ 24D

\ 5> D erdS oo ke

| e (&)

L ()

s @)

Potnker De finosdten
T Mooks

Pravkea Akt
=L — B o

— | m oxles

e weamth
Calh
¥e b()u\\.x_. ?Y lev\uﬁ“"\ 2
— A
€ Yeamplr XY — &
N\
@)
N\ Uvden  — LF'M

e e s
«_ss\} rraambes il Syadun B

G oo L
wanp 'S R e

S,tyu\ku‘r‘—

T Uw ekt

Ftlc_ Hﬁ\ﬂl\t;i
tA) -Iju-\wl'sQ() kfl—‘-kﬂ)
..8,«\

e k7Y, festec)

Dreyyan
tﬂ':m {jo ek & +o ' r(
*t {11.(_ Saampe, i

A pyidT
(2 3bstrf o Chametert b e
PL".)(PHM
— 21 mM. '

by s e
3 4t
Pt sk @ ‘Z—-(;Eﬂ::u“w

P‘g‘{ Pﬁ(d-’)'ﬂ" Jb\
{&u’c\\:'h
o et o i
q\:t h_ :I_-:“' bw;l—e.
e C[SC— ;F}:Cv-o\‘
YT asedy 2 ‘
Ivtepers - J«sphj w

Cum ‘rkl
19 e fRaogh (ommadd B
[ > fo\-»(






Semester End Supplementary Examination, October, 2021

Degree B. Tech. {U. G) Program CSE, CSM, CSD& EEE | Academic Year 2020 - 2021
Course Code  20BSX33 Test Duration  3Hrs. Max. Marks 70 Semester |
Course APPLIED PHYSICS
Part A (Short Answer Questions 5 x 2 = 10 Marks)
No.  Queslions (1 through 5) Leaming Quicome (s)  DoK
1 List any two difference between Interference and Diffraction 20B5%33.1 L2
2 Define population inversion 20B8SX33.2 L1
3 Define Dielectric polarization 20BSX33.3 L1
4 Write a brief note on matter waves 20BSX334 Lt
5  What are Intrinsic Semiconductors? 20BSX33.5 1

Part B (Long Answer Questions 5 x 12 = 60 Marks)
No.  Questions (6 through 15) Marks Leaming Outcome (s) DoK

Prove thai the diameter of n dark ring in a newton’s rings set-up is
6{a) directly proportional to the square root of the ring number 2 e L2
6{b) Explain the concept of coherence M 20B5X33.1 L2
OR
Deduce conditions for ceniral maxima and minims in Fraunhofer
7@ single slit experiment i 2088X33.1 L
7(b) Explain about Raleigh’s criteria 4M 20B5X33.1 L2
Explain the construction and working of a He-Ne laser. What are
1) the merits of this laser? g e ez
8 () Interpret any four applications of lasers 4M 20BSX33.2 L2
OR
9(a) Explain numerical aperture and acceptance angle diagrammatically ~ 9M 20B5X33.2 L2
9(b)  Explain working principle of optical fibers M 20B5X33.2 L2
10(a) Explain in detail the classification of magnetic materials BM 20BSX33.3 L1
10(b) Compare the differences between soft and hard magnetic materials =~ 4M 20BSX33.3 L2
OR
11 (a) ?;g\sre Clausius-Mosotti relation in dielectric subjected lo static oM 20BSX33.3 L4
11(b} Qutline the applications cf disicclric materiais A 20B5X33.3 L2
12{g) = Show that the energies of a paricle in a potentia’ oox are quantized  10M 20BSX33.4 L2 e
12 (5 An electron is confined to a potential box of length 2A% calculate oM 0BSX33 4 L2 €, =3hb9en
) energies of second and fourth quantum states in eV = ' ="
OR e,z ISo- e
13(a) E)g::?;n briefly drawbacks and success of classical free electron 10M 20BSX33.4 12
13 (b) S:;c;;:?le the Femmi :I}nchon fgr an ;elriergy ka T above the Femi oM 20BSX33.4 L2
14 (8}  Explain Bloch theorem 5M 20BSX33.5 L2
14 (b} Describe the salient features of Kronig - Penny madel ™ 20BSX33.5 L2
OR
15 (a) Explain classification of materials in to conduclors, semiconductors 8M 90BSX33.5 L2

and insulalors based on band theory
15(b) Write any four applications of Hall Effect M 20B8X33.5 L2
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Semester End Supplementary Examination, October, 2021

Degree B. Tech. (U. G)) Program Commen to Al Academic Year 2020 - 2021
CourseCode 20HSX01 TestDuration 3 Hrs. Max. Marks 70 Semester |
Course COMMUNICATIVE ENGLISH

Part A (Short Answer Questions 5 x 2 =10 Marks)

No.  Questions (1 through 5) Learning Qutcome (s) DoK
1 What was Steve Jobs' contribution to mobile industry? 20HSX01.1 L1
2 List out any four techniques of effective writing 20HSX01.2 L1
3 Howdolistening and speaking conlribute in communication? 20HSX01.3 L1
4 Whatlis paraphrasing? 20HSX01.4 L1
5  What does it mean by ‘reading between the lings"? 20HSXMM.5 L1

Part B {Long Answer Questions 5 x 12 = 60 Marks)

No.  Questions (6 through 15) Marks = Leaming Qutcome (5} DoK
6(a) Listany five types of formal letters 6M 20HSX01.1 L1
6(b)  Explain ali the elements of an ‘Enquiry Letter 6M 20HSX01.1 L2

OR
How have you got influenced by the life of A. P. J Abdul Kalam?
7 Eiaborate 12M 20HSX01.1 L2

8(a) How does Sétya Nadella of Microsoft try to motivate his

R . 6M 20HSX01.2 L2
employees in his email?
8(b) What did Nadella predict for the future of technology? &M 20HSX01.2 L2
OR
9(a) }f::"agh“c‘i?oes this quote really mean: “Stay hungry, stay aM 20HSX01.2 L1
Steve Jobs frequently uses the words “drop out' and ‘drop in'
9(b) in his first story. How these words are closely related to his &M 20HSX01.2 L2
‘connecting dots theory'?
10(a) Write about the early life and education of Stephen Hawking &M 20HSX01.3 L1
10 (b) Pfof. Hawking's works are larger than his life." Comment &M 20HSX01.3 12
briefiy
OR
Fillin the blanks with appropriate prepositions:
He worked on debugging the program moming ____
11(a) evening. By dinner he had finished and was ready ___ upload his M 20HSX01.3 L2
program. ____ the first three hours ____ uploading the program
two hundred people had played the game ____ his surprise
1 (b) Explain m'rhat you und‘erstand a‘bout racial _d|§cnm|nat|on oM 90HSX01.3 L2
after reading the poem. ‘Telephonic conversation
12{a)  Explain in detail about Nehru's ideas and vision &M 20HSX01.4 L2

12(b) What did Nehru expect from his daughter? &M 20HSX01.4 L1



13 (a)

13 (b)

14 (a)

14 {b)

15 (3)
15 (b)

OR
What was Virginia wolf intention in writing the story
‘Shakespeare's sister'?

Give the synonyms:
(i) Candid (i) Inspire  (iii} Naive (iv) Acumen

Write a paragraph about a person influenced you
Fill in the blanks with correct verbs:
a. Thera (to be) a lot of software being deployed today

b. One {has} to be careful malicious viruses

c. A security breach _____ (lo be) a very dangerous thing to
happen

d. Theinboxis filingup even as | ____{to talk) to you

e. Software developers (to think} of hackers a long time
ago

i Why {has, not) you not replied to the mail as yet?

OR

Wirite a brief essay on “Life during the present pandemic’
Explain Kalam'’s views about the constitution

a

4M

&M

a6

6M
6M

20HSX01.4

20HSX01.4

20HSX01.5

20HSX01.5

20HSX01.5
20HSX01.5

L2

U1

kK
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SEMESTER Question Paper
Degree B.Tech.{U.G) Program g“gl'lm“ Test © Ml Academic Year 2020 - 2021
Course Code = 20HSX01 TestDuration 90Min.  Max.Marks 40  Semester |
Course COMMUNICATIVE ENGLISH

Key and Scheme of Evaluation
No.  Questions (1 through 5)
What was Steve Jobs' contribution fo mobile industry?
carriers beefed up their network -KEYBOARDS FADED AWAY- PEOPLIES VIEWING
HABITS SHIFTED -POINT-AND-SHOOT CAMERAS BECAML (LARGELY)
1 OBSOLETE- TOUCHSCREENS BECAME STANDARD- MOBILE GAMING BECAME
A VIABLE INDUSTRY- THE INTERNET BECAME PORTABLE-MOBILE SOFTWARE
DISTRIBUTION BECAME CENTRALIZED

List out any four techniques of effective wriling
9 Write from an outline. - One paragraph one idea- Write clear, punchy and
compact sentences- Get to the point.- Avoid the passive voice - Use vivid
nouns and verbs- Avoid using words that signal "dodges
How do listening and speaking contribute in communication?
listening involves the ability to accurately receive and interpret messages in the
3 communication provess. Without the ability to listen effectively, which involves desire and
awareness, messages are casily misunderstood or misinterpreted, ... It means paying
altention, being aware of verbal und non-verbul messaues.
‘hat is parapnrasing?
4 express the meaning of (something written or spoken) using different words,
especially to achieve greater clarity.
What does it mean by "reading between the lines™?
§  Ifyou read between ihe lines, you understand whal someane really means, or what is really
happening in a situation, even though it is not said openly.
No. Questions (6 through 11)
List any five types of formal leiters
The types of formal letters are mentioned below.
Letter of Enquiry.
Order Letter.
Letter of Complaint.
Reply to a Letter of Complaint.
Promotion Letter.
Sales Letters.
= Recovery Lelters.
6(a) Can be elaborated

6 (5) Explain all the elements of an ‘Enquiry Letter
what s enquiry letter? What are the features of an inquire letter?

Marks

Content 1.5M
Grammar/Spelling
check 0.5

Content 1.5M
Grammar/Spelling
check 0.5

Content 1.5M
Grammar/Spelling
check 0.5

Content 1.5M
Grammar/Spelling
check 0.5

Content 1.5M
Grammar/Spelling

check 0.5

Content 4m
Grammar &
Spellings 1m;
presentation 1m

Content 4m
Grammar &



8(a)

8 (b)

Spellings 1m;
presentation 1m

In business enquiry accur a great deal of the daily comrespondence. i is very important fo a
business firm. Enquiry letters are important because it ask for information that is needed o
carry on business. An enquiry letter must be properly written, because it may bring valuable
business information and the opportunity lo save maney or to make a profit. If the reply is
effectively written , it may build goodwill and eams profit.

So enquiry letier should be simple, clear and business related.

Characteristics: The characteristics of an inquiry letter are given below.

1.Asking for any kinds of information.

2.Start with directly and polilely.

3.Be more confidentiality.

4.Provide explanation for information.

5.Write language carefully.

8.Specific purpose.

7.Supported by replying letter.

8.Asking information within specific ime.

9.Proper format on structure.

10.Formal language.

11. Mention proper causes.

12.Close cordially.

2.How man kinds of enguiry lelter?
1. Personal status Enquiry.
2 Letters of financial status Enguiry.

3.Letter of trade enquiry.
OR
Content 5m
How have you got influenced by the life of A. P. J Abdul Kalam? Elaborate Grammar &
Qwn way depending upon of how oneseif got inspired Spellings 2 m;

presentation 1m

How does Satya Nadella of Microsoft try to motivate his employees in his
email?

Nadella believes that Microsoft is a great place to work in because it believes in

L . Content 5m
empowering its employees to innovate.

Grammar&
Spellings 2m ;

Nadella says that employees commonly underestimate their role in a company, and presentation 1m

overestimate the role of others. He says that each employee must work towards
innovating technology which will make people’s lives better and easier, and this
way, they can also find meaning and joy in their work.

What did Nadella predict for the future of technology?

« Nadella forecasts cloud computing, machine leaming, insights from big data and
increasingly ubiguitous technology with connected devices as the future, and
says that Microsoft will have to evolve fo keep pace with these emerging
technologies and frends.

« Microsoft's goal in ils early years was to have a PC in every home and on every
desk. This goal has largely been achieved in the developed world. Today, the M forone blank
world has mare or less moved away from PCs and instead favors Mobile and
Clouds-Computing devices.

o Nadella beiigves that going forward, Microsoft must focus on innovations which
empower people to do more and improve their lives.

Nadella believes that Microsoft is uniquely situated to achieve its goal of being a tech
leader in the coming decades as well, because it can hamess the power of




software as well as hardware, through its acquisition of Nekia.
OR

What does this quote really mean: "Stay hungry, stay foolish™?

The phrase uses adjectives considered as negatives and flips them to be used in a
positive connolation, hence the intigue. | knew the words were meant for
motivalional purposes but wasn't sure how | would prescribe to the notion of
‘staying hungry and staying foolish' in real life. Obviously the idea is not to go
without food and making rash decisions.

| tried to analyse my work style and pattern and compare with what | thought the
words meant. Slaying hungry seemed to imply a search for ‘food'. Food can be
used as a metaphor for any objective or goal so that would insinuate that | should
keep searching for my goal; nole that there is a difference between working
towards a goal and continuous searching.

Similar to the above, | analysed this in context to my personal work style and
paitern.What | interpreted was to be foolish. Though it may sound silly, a quick
read through history and inventions show that most of the big names and
discoveries were made by ‘foolish’ people. Foolish referring fo those who had
dared to think a little different; think beyond what was being taught in schoals and
saciety. This, to me was the ‘foolishness' being alluded to. It suggested | had lo
team to be more be mare risky than the usual risky' refated to any business.

Some would call it crazy and say they are calculated risks, and maybe they are, %0,-2:1?2-};2
8 (a} but calculations give reasons not to take action whilst foolishness seems the Spellings 2m
upposite, peirs :

presentation 1m

Needless lo say, there has to be some limitations to this and only you would know
what they are. Personally, | have been blessed to have tried and leamt a lot along the
way with some successes and some not. The one thing | can say is | won't look back
in 20 years and think 'l should have tried that', With each experience comes a lesson
and though it may sound ike a cliché — it's reality.
THE REAL MEANING
The above is my interpretation of what the phrase means but in an interview for the
Guardian, Brand shares his thoughts behind it;

"...for some reason the image | had in my mind was of a hitchhiker at dawn on a road
somewhere and the sun comes up and there are trains going by. The frame of
mind of the young hitchhiker is one of the freest frames of mind there is. You're
always a little bit hungry and you know you are being completely foalish."

| quess my interpretation wasn't far off, but one can learn an important lesson here.
Every word or phrase is open to interpretation an your skill, knowledge, situation,
and an amay of other variables, The benefit comes from how we analyse the
given phrase or speech and use it to grow, and that's the goal. To Grow.

Steve Jobs frequently uses the words “drop out’ and ‘drop in' in his first story. How
these words are closely related to his ‘connecting dots theory'?
Steve Jobs uses the words of drop out and drop in because his concept or theory of

connecting the dots aims at looking at things backwards. For instance, he stated Sglﬂ?;?ig?:r:d
9 (b) in his theory that a person must have faith or trust in the fact that one way or subject &
another the dots in hisfher life will be connecled He means that you will never Spelings 2m;

know in what ways cerlain experiences will bring great benefits later in life. Thal
you should follow your true interests even if you think that it will bring you na
other benefit than satisfying your curiosity. Because down the road you never
know how those experience could end up being extremely valuable to you, in

presentation 1m




10 (a)

10 (b)

11{a)

11 (b)

ways you never imagined, at just the right time in your life.

So your experiences are like dots on paper. If you follow a rigid ight path through life you
look back and get a straight line. If you have diverse experiences in life you look back and
have enough dols in random places to connect them and form a picture

Write about the early life and education of Stephen Hawking

Stephen William Hawking was born on January 8, 1942, in Oxford, England. His
father, a well-known researcher in tropical medicine, urged his son to seek a
career in medicine, but Stephen found biology and medicine were not exact
enough. Therefore, he turned to the study of mathematics and physics.

Hawking was not an oulstanding student at St. Alban's Schaol, nor later at Oxford
University, which he entered in 1959. He was a social young man who did little
schoolwork because he was able to grasp the essentials of 2 mathematics or physics
problem quickly. At home he reports, *| would take things apart to see how they
worked, but they didn't often go back together.” His early school years were marked
by unhappiness at school, with his peers and on the playing field. While at Oxford he
became increasingly interested in physics {sludy of matter and energy), eventually
graduating with a first class honors in physics (1962). He immediately began
postgraduate studies at Cambridge University.

“Prof. Hawking's works are larger than his life." Comment briefly

With the Oxford mathematician Roger Penrose, he showed that if there was a Big
Bang, it must have started from an infinitely small point - a singularity Black holes
radiate energy known as Hawking radiation, while gradually losing mass. This is due
fo quantum effects near the edge of the black hole, a region called the event haorizon
He predicted the existence of mini-black hales at the time of the Big Bang. These tiny
black holes would have been incredibly hot, shedding mass until they vanished -
potentially ending their lives in a powerful explosion.In the 70s, Hawking considered
whether the particles and light entering a black hole were destroyed if the black hole
evaporated. Hawking initially thought this “information” was lost from the Universe.
But US physicist Leonard Susskind disagreed. These ideas became known as the
information paradox. In 2004, Hawking conceded that the information must be
conserved.

OR
Fill in the blanks with appropriate prepositions:
He worked on debugging the program _from____ morning ___to_ evening.
By dinner he had finished and was ready __to_ upload his program. _for___
the first three hours __ of _ uploading the program two hundred people had
played the game _at___his surprise
Explain what you understand about racial discrimination after reading the poem.
‘Telephonic conversation’
"Telephone Conversation" is a 1963 poem by the Nigerian writer Wole
Soyinka that satires racism. The poem describes a phone call between a
landlady and the speaker, who is black, about renting an apartment. The
landlady is pleasant until she learns that the speaker is "African," at which
point she demands to know how "light" or "dark" the speaker's skin is. In
response, the speaker cleverly mocks the landlady’s ignorance and
prejudice, demonstrating that characterizing people by their skin color
diminishes their humanity.

Content 5m
Grammar&
Spellings 2m;
presentation 1m
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answer




12(a)

12(b)

13(a)

13(b)

14(a)

14(b)

15(a)

15(b)

Explain in detail about Nehnt's ideas and vision

Nehru was convinced that Science and Technology were crucial to the
solution of India’s problems. 1938 he said that it was science alone that could
solve the problems of hunger and poverty, of sanitation and illiteracy, of
superstition and deadening custom and tradition of vast resources running Lo
waste, of a rich country inhibited by starving people.

What did Nehru expect from his daughter?

Nehru advises his daughter to be open in all matters of freedom

movement and never to do anything secretly. - He asks his daughter to work
in the sun and in the light. Because things that are done in the dark, that is

in sccret will cause fear and destroy the braveness.

What was Virginfa wolf intention in writing the story ‘Shakespeare's sister?

Woolf sheds light on the reality of women’s life during this time and illustrates
the effects of social structures on the creative spirit of women, In the society
they lived in, women were halted to explore and fulfill their talent the same
way men were able to, due to the gender role conventions that prevailed during
this era. Through a theoretical setting in which it is it is imagined that William
Shakespeare had a sister (Judith), Virginia Woolf personifies women during
the sixteenth century in order to reflect the hardships they had to overcome as
aspiring writers.

Give the synonyms:
(i) Candid-Natural, Open,truthful
(ii) Inspire-motivate,encourage,influence
(i) Naive-simple,sincere,innocent

(iv)  Acumen-awareness,judgementunderstanding
Write a paragraph about a person influenced you
Qwn way depending upen of how oneself got influenced

Fillin the blanks with correct verbs:

a. There ___has been__(to be) a lot of software being deployed today

b. One _have___(has} to be careful malicious viruses

¢. A security breach _is___ (to be) a very dangerous thing to happen

d. The inboxis filling up even as | __am talking__(to talk) to you

e. Software developers __thought___(to think) of hackers a long time ago
Why _have____ (has, not) you not replied to the mail as yet?
Write a brief essay on “Life during the present pandemic”
Own way depending upon of how oneself got experienced

Explain Kalam's views about the constitution

He said he would give top priority to eradicating poverty in the country, and
also focus on health and equity among all sections of the society. President
Kalam took his Presidency seriously from Day ). He was as comfortable
with constitutional and legal issues as he was with school children. He was
committed to nation-building and created a vision docwmnent to make India a
developed nation by 2020.
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Semester End Supplementary Examination, October, 2021

Degree B. Tech. (U.G) Program ECE & EEE Academic Year 2020 - 2021
CourseCode 20ESX03 TestDuration  3Hrs. Max. Maks 70 Semester I
Course BASIC ELECTRICAL ENGINEERING

Part A (Short Answer Questions 5 x 2 = 10 Marks)

No. Questions (1 through 5) Leaming Qutcome {s}  DoK
1 Whatis the difference between dependent and independent sources? 20ESX03.1 L1
2 Whatis the significance of back E.M.F in a D. C. molar? 20E3X03.2 L1
3 What do you mean by KVA rating of a transformer? 20ESX03.3 L1
4  Define voltage regulation of an altemator and also write the expression 20ESX03.4 L1
5 Wiite the applications of AC servo motor and single phase induction 20ESX03.5 L1

motor.

Part B (Long Answer Questions 5§ x 12 = 60 Marks)

No.  Questions (6 through 15} Marks Learning Quicome (s) DoK
Explain inductance element. Also derive the expression for
6 {a) energy stored in i ™ 20ESX03.1 L2
Four resistors of 5, 70, 90 and 12Q are connecied in series
6(b) across a 100V source. Calculate the voltage drop across each  5M 20ESX03.1 L3
resistor and power absorbed by each resistor
OR
7(a) Classify the different types of network elements M 20EEX03.1 L2
Calculate the voltage to be applied across AB in order to drive
curent of 3A In the circuit by using star-delta transformation
for the network shawn i in fi figure below?

21) \/\
7(b) e BM 207ESX03.1 L3

A = 5!..! .T.Uu-’ ‘-—-——-E
:lu'/z l A X ;:;u
20
8(a) Explain the principle and operation of a D. C. generator &M 20ESX03.2 L2
8(b) Explain the construction of D.C. generalors 6M 20ESX03.2 L3
OR

9 Explain the necessity of starter in a D. C. motor and explain

the operation of a three point starter with a neat sketch L 2l =

10 (a) Explain the principle of operation of single phase
transformer
A single phase 200/400 V, 6 KVA, 50 Hz transformer gave
the following resulls.

OC test{LV side}: 200V, 0.8 A, 80 W

10 (b} SC test{HV side): 25V, 10 A, 00 W ™ 20E5X03.3 L3
Determine
(i) The circuit constants referred o L.V side
(if) The efficiency at full load with 0.8 lagging power factor

oM 20ES5X03.3 L2




11 (a)
11 (b)

12 (a)

12 {b)

OR
Describe the parallel operation of a single phase
transformer
Explain various losses that occur in a transformer

Describe the concept of rotating magnetic field.

A 10 MVA 6.6 kV, 3 phase star connected allemator gave

open circuit and short circuit data as follows:

Field currentinamps : 25 50 75 100 125 150

OCvoltageinkV (L-L): 24 48 61 71 76 708

SC Currentin Amps : 288 528 875

Find the voltage requlation at fuil load 0.8 pf lagging by

e.m.f. method. Anmature resistance per phase =0.13 O
OR

Explain the Speed - Torque characteristics of three phase

induction motor

Derive the E.M.F. equation of alternator

Explain lhe principle of operation and construction of
shaded pele induction motor

Explain the working of capacitor-start type single phase
induction motor

OR
Explain the working principle of A. C. servo motors with
neat skefches
Differentiate between single phase and three phase
induction motors

6M
oM

5M

™

7M™
5M

GM

6M

il

5M

20E5X03.3

20ESX03.4

20E5X03.4

20ESX03.4
20ESX03.4

20ESX03.5

20ESX03.5

20ESX03.5

20ESX03.5

L3

L2

L2

L2

L2

L2

L2
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Semester End Supplementary Examination, October, 2021

Degree B. Tech.{U.G.) Program ECE & EEE P Academic Year 2020 - 2021
Cours‘e Code 20ESX03 TestDuration  3Hrs. Max.Marks 70 Semester |
Course BASIC Ei.ECTRICAL ENGINEERING

Scheme of evaluation

Part A (Short Answer Questions 5x 2 = 10 Marks)
No. . Questions (1 through 5) Marks
What is the difference between dependent and independert sources?

1 Independent source are those, whose value of either the voltage or the current to be delivered is independent of 2
any other parameter of the nefwork. Where as the dependent sources are those, whose value of either the
voltage or the current to be delivered is dapendent or controlled on other parametars of the network,

What is the significance of back E.M.F in a D. C. motor?

The makes the motor to draw as much armature current as is just sufficient to develop the torque required
presence of back emf makes the d.c. motor a self-regulating machine i.e., it by the load.
What do you mean by KVA rating of a transformer?

3 kVA stands for Kilovoit-Ampere and is the raung normally used to rale a transformer. The size of a transiormer ] 2
is determined by the kVA of the load. ... The Curent that passes through transformer windings will determine the
Copper Losses, whereas Iron Losses, Core Losses or Insufation Losses depends on voltage,

Define voltage regulation of an alternator and also write the expression
voltage regulation of an aiternator is defined as the rise in terminal voltage, when the load is reduced from
full toad rated value fo zero.

Voltage Regulation = ‘E‘;\;V_ per unit

_-Fi;;—‘f % 100 percent

Write the applications of AC servo motor and single phase induction motor,
AC servo motors are used in a wide variety of applications where position control is critical and are frequently
used in robolics, semiconductor equipment, machine tools, and aircrafis,

Part B {Long Answer Questions 5 x 12 = 60 Marks)

No.  Questions (6 through 15) Marks
Explain inductance element. Also derive the expression for energy stored in it

Definition & Symbol Lyn

“ips v[%l COverp, may) :
LE, o : ., .
6(a) (= E) e b
COPe BRIOCvhiad A

"
*ﬁ-_fl_.-L1= P lindy )
{p: ] 2



Four resistors of 50, 70, 90 and 120 are connected in series across a 100V source. Calculate
the voltage drop across each resistor and power absorbed by each resistor

| Wl
fey = S+ 49 +1L =330 S§¢-Jox 3-03 ALY
6 (0) ”
T o s - 200 .30 T W3 |
feny 23 ‘ £ 12 % 303 = b4 24
Vy < 2-03xS = 1SV N azpaxie ?af“:\z'l
B S ¢ hy? 303X =ﬂ_w%03=8“w
Vo, = z-02X3 =203F =363 by . -t T
Vag = 3. - 13V "
Ay 3:03x9 =13 \ e
OR

Classify the different types of network elements
7(a) Active elements Passive elements, Linear elements,Non finear elements,Unilaterat elemenis,Bilateral oM
elements,Lumped elements, Distributed elements
Calculate the voltage to be applied across AB in order to drive current of 5A In the circuit by
using star-delta trap_gformation for the network shown in figure below?

i,
i5s - ——
1 7o T

30 I L tan

M

7(0)

+®

MoF 2334 "“73.=6-L"‘ = 240104 X0 =y
10

foz 2t54 ’;z’£f=|°'3~/" Ay = WO+ WA < o0

a3 = 345+ 2:_-5 =156 (e [O0% 24 “.'.’%: = Iy
B
.’(-L“\‘@,ﬂ'

A. gbl; 6.l+l‘.t* ‘.::‘;‘.b: "‘-
"> 1.! W "‘ -
.-Cp Ruzbir -z 462KE2
4&" & + oy =23}

™y
. oK lg= 3445 4 33k za
all %: Ko 24-"6A-B Y N =1+

§F0L | i

2.3
ca 1SSKWM o3 _a3g
M TEZ LT B i
ful - 232 135
e
2-3h33
=1C{n

R S SR

SRV S, = SYSEY --—-;:2‘\1..;-«
- 329. 1)U\
q ' ./:.




Explain the principle and operation of a D. C. generator

principle and operation N

8(a)
Explain the construction of D.C. generators
construction of D.C. generators 2 ™\
8 {b)
OR
Explain the necessity of starterin aD. C. TR
motor and explain the operation of a sty gt S T
three point starter with a neat sketch R N LI ra- i
Throe point starter I an alactrical davice, usad m",f,f,i&', e M
for starfing as well as maintaining the OC shunt . "'“‘; .
motor speed. The connection of resistance in L N
this circuit is in series which decreases the initial ommm\ aﬂ—i“%
9 high current and guards the equipment against A (|2
any electrical failures. 3N e 2 o— 1
Luver Tlhn:g:iar
L F' g u
a3 k|
Ay o3
DI _l [ TA_-
Throws Polnt Starter
Explain the principle of operation of single phase transformer
Principle 2™ ' F
10 Figure T A~ I Faptyl - S
- 2 ——
(a) ey h =1
A single phase 200/400 V, 6 KVA, 50 Hz transformer gave the following results.
OC test{LV side): 200V, 0.8 A, 80 W
SC test(HV side}: 25V, 10 A, 90 W
Determine
(i) The circuit constants referred to L.V side
10 (ii) The efficiency at full load with 0.8 lagging power factor
(b) J =700V wo = KO W et = 8@ _ -pg
| 2o0%4 €
o
Vo = ye vV Wz V 3, 00%%, Tws Tocoek, = 04

Iu= T sint,= 0644
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OR
Describe the parallel operation of a single phase transformer

Parallel Operation of a Single Phase Transformer L !
rmeans that the two or more transformers having the .,.m,.m.. 1 I
same polarities, same tum rafies, same phase r-r
sequence and the same voltage ratio are connected T |V g
in narallel with each other. The current lvand —I
6M

11(a) [|shavelwo companents.

A o z M

_I-—'-‘—“'T:
I |

Transforeas i

Explain various losses that occur in a transformer

Losses In the |
transfarmar |
e ' e —
1 {b | o ' &M
( ) Iron or Corg Copperor Stray Lags Dialactric
losses || Ohmlclosses ¥ - Lossas
N [N

| e — |
g[ Hysteresis ?El&ddvcumntl
losses } Lozses

Describe the concept of rotating magnetic field.
The rotating magnetic field is produced by the three-phase current
of the statorin the actual three-phase induction motor. 1t can be
replaced by permanent magnels in  a pe:manent
magnet synchronous mator. The three-phase windings of the inner
stalor are spaced 120° electical degrees apart. In addition, the
12 @) conductor of each winding is distributed such as a sinusoidal wave.
Therefore, when the cument flows into the three-phase windings,
the magneto motive force (MMF) of the sinusoidal waveform is
produced by the cumrent. ™

5M




A 10 MVA 6.6 kV, 3 phase star connected alternator gave open circuit and short circuit data
as follows:

Fieldcurrentinamps : 25 50 75 100 125 150

OCvoltagein kv {L-L): 24 48 61 71 76 79

SC Currentin Amps :288 528 875

Find the voltage regulation at full load 0.8 pf lagging by e.m.f. method. Armature resistance

perphase=0.13Q
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OR
Explain the Speed - Torque characteristics of three phase induction motor
&
We know, Turjue eyuwition is
_ tibsER
By ey
Cagesfi): Msal), T2
Casesfli]: aXs Is very small, Ry>»sXe, .
J Y -
o T 1ul Ry is commtant

Heree, for low valnes of i, e tonque/shn curve 1s app tely &
stratght boe; Av shp merenes (for meresting Joad oo the notor), tho
lio meremes 4l bioomes mavimren wheny = A, This forque s mown o

pall-sat’ of "brrakdawn’ tovque Ty or stalliag torque.
Case{li}) 2 Ry lsvery small, RycesXy,
13 (a) T & s ™
Hence, fhe borghesbiy curte o 2 fecteaguiny nperbola. Sa, we see it beyood the pont of

bty dorepde, amy feyther ncteste v ooty baod revudrs vy decresse of tarqe developed by 1he
e, The pevill  dhol dhe awtee slowrs dow aad evestlly sieps.

Therefore, the slipturque {or} tanpiesspeed characterigties of an Ipduction
inter are shown o the fig.
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13 (b)

14 (a)

14 (b)

15 (a)

15{b)

Derive the E.M.F. equation of alternator

8 .\wr-cmimlumlpumkumﬁ'% 'b“:’
Ko we Loow that = P/ M ar Y= 119
Scbstituty s veluaof Nehve, wogel

P |
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This woukd have been the actual value of 1be inbaced voltsge of ol the corls 1n 2 phase nere
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aderpudes). s o e o, e actly sl e ked 1 the oo hesetwo ko,
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Explain the principle of operation and construction of shaded pole induction motor

Shaded pole motors explanation
Figure ™

Explain the working of capacitor-start type single
capacilor-start type motors explanation

Figure IM 2 M

phase induction motor

M

OR

Explain the working principle of A. C. servo motors

with neat sketches

Working principle M

3™ ™

Lchematic af $arvo Sntem

Differentiate between single phase and three phase induclion molors

Single Phase Induction Motor

Three Phase Induction Motor

The AC asynchronous mator that runs on single phase
AG power supply.

AC asynchronous motor that runs on three phase
AC power supply.

It hias 2 terminals thus it requires only two wires to power
it up.

It has 3 terminals and requires three or four
(including neutral) wires to operate,

g Pinls

Itis not a self-start motor.

itis a self-start motor.
5M

Their types include; Spit phase, shaded pole, capacitor
start, capacitor start capacitor run induction motor ete.

Their types are; squirrel cage induction motor
and wound type induction motor.

It generates mechanical noise and vibration,

It operales smoothly with less noise.

its efiiciency is lower,

It has high efficiency.

It offers very limited starting torque.

It offers very high starting torque.

its design is simple and easier to construct

It design is complex,

its maintenance is very easy.

Ils maintenance is relatively difficult.

itis cheaper.

It is expensive.
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Semester End Supplementary Examination, October, 2021

Degree B. Tech. {(U. G} Program Comman to All Academic Year 2020 - 2021
Course Code  20HSX0D1 TestDuration 3 Hrs. Max Marks 70 Semester I
Course COMMUNICATIVE ENGLISH

Part A (Short Answer Questions 5 x 2 =10 Marks)

No.  Questions {1 through 5} Learning Cutcome (s) DoK
1 What was Steve Jobs' contribution to mobile industry? 20HSX01.1 L1
2 Listout any four techniques of effective writing 20HSX01.2 L1
3 How do listening and speaking contribute in communication? 20HSX01.3 L1
4 Whatis paraphrasing? 20HSX01.4 L1
5  What does it mean by “reading between the lines"? 20HSX01.5 L1
Part B (Long Answer Questions 5 x 12 = 60 Marks)

No.  Questions (6 through 15) Marks Learning Outcome (s) DoK
6(a} Listany five types of formal letters 6M 20HSX01.1 L1
6(b)  Explain all the elements of an 'Enquiry Letter &M 20HSX01.1 L2

OR
2 Eg\got:aa:i; you got influenced by the life of A. P. J Abdul Kalam? 12M OHSX01.1 L2
8(a) How does _Sat_ya Na_della of Microsoft try to motivate his 6M 20HSX01.2 L2
employees in his email?
8(b) Whatdid Nadella predict for the future of technology? &M 20HSX01.2 L2
CR
9(a) E’:I?sth“q?oes this quote really mean: "Stay hungry, stay aM 20HSX01.2 L1
Steve Jobs frequently uses the words “drop out' and ‘drop in'
9(b) in his first story. How these words are closely related to his  8M 20HSX01.2 L2
‘connecting dots theory™?
10{a) Write about the early life and education of Stephen Hawking 6M 20HSX01.3 L1
10 (6) bP_rof. Hawking's works are larger than his life.” Comment M 20HSX01.3 L2
riefly
OR
Fili in the blanks with appropriate prepositions:
He worked én debugging the program morming ____
11(a} evening. By dinner he had finished and was ready ___ upload his M 20HSX01.3 L2
program, ____ the first three hours ____ uploading the program
two hundred people had played the game ____ his surprise
11 (5) Explain vyhat you undFmtand a_bout racial _dr§cnm|naﬂon &M 90HSX01.3 L2
after reading the poem. ‘Telephonic conversation
12(a) Explain in detail about Nehru's ideas and vision &M 20HSX01.4 L2

12(b) Whatdid Nehru expect from his daughter? 6M 20HSX01.4 L1



13 (a)

13(b)

14 (a)

14 (b)

15 (a)
15 (b)

OR

What was Virginia wolf intention in writing the story
‘Shakespeare's sister'?

Give the synonyms:

(i) Candid  (ii) Inspire  (iii) Naive (iv) Acumen

Write a paragraph about a person influenced you
Fill in the blanks with correct verbs:

a.
b.
C.

d.
e

f.

There {to be) a lot of software being deployed today

One {has} to be careful malicious viruses

A security breach ____ (to be) a very dangerous thing to
happen

The inbox is fillingup evenas ! ____ ({totalk) to you

Software developers (to think} of hackers a long time
ago

Why ____(has, not) you not replied to the mail as yet?

OR

Write a brief essay on “Life during the present pandemic’
Explain Kalam's views about the constitution

am

4M

6M

6M

6M
&M

20HSX01.4

20HSX01.4

20HSX01.5

20HSX01.5

20HSX01.5
20HSX01.5

L2

L1

L2

kR



| Nadimpaili Satyanarayana Raju Insttute of Technology (Autonomous)

JIQACH QualiyMaragement System (QuSIE L NN S

.

SEMESTER Question Paper
Degree B. Tech. (U.G) Program gﬂ‘m“ Test Wl Academic Year 2020 - 2021
Course Code 20HSX01 Test Duration 90Min.  Max.Marks 40  Semester I
Course COMMUNICATIVE ENGLISH

Key and Scheme of Evaluation
No.  Questions {1 through 5)
What was Steve Jobs' confribution to mohile industry?
carriers beeted up their network -KEYBOARDS FADED AWAY- PEOPLE'S VILWING
HABITS SHIFTED -POINT-AND-SHOOT CAMLERAS BECAME (LARGELY)
1 OBSOLLTE- TOUCHSCREENS BECAME STANDARD- MOBILL GAMING BECAMLU
A VIABLE INDUSTRY- THE INTERNET BECAME PORTABLE-MOBILE SOFTWARE
DISTRIBUTION BECAME CENTRALIZED

List out any four techniques of effective writing
Write from an outline. - One paragraph one idea- Write clear, punchy and

2 . . . . ..
compact sentences- Get to the point.- Avoid the passive voice - Use vivid
nouns and verbs- Avoid using words that signal "dodges
How do listening and speaking contribute in communication?
listening involves the ability to accurately reccive and imeepret messages in the

3 communication process. Withowt the ability to listen effectively, which involves desire and

awareness, messages ore easily misunderstood or misinterpreted. ... It means paying
altention, being awure of’ verbal und non-verbal inessages,
What is paraphrasing?
4 express the meaning of (something written or spoken) using different words,
especially to achieve greater clarity.
What does if mean by “reading between the lines"?
9 If you read between the lines, you understand what someone realiy means, or what is really
happening in a situation, even though it is not said openly.
No. Questions (6 through 11)
List any five types of formal letters
The types of formal letlers are mentioned below.
Letter of Enquiry.
Order Letter.
Letter of Complaint,
Reply to a Letter of Complaint.
Promotion Letter.
Sales Lelters.
o Recovery Letters.
Can be elaborated

6 (a)

6 (b) Explain all the elements of an ‘Enquiry Letter’
what is enquiry letter? What are the features of an inquire letter?

Marks

Content 1.5M
Grammar/Spelling
check 0.5

Content 1.5M
Grammar/Spelling
check 0.5

Content 1.5M
Grammar/Spelling
check 0.5

Content 1.5M
Grammar/Spelling
check 0.3

Content 1.5M
Grammar/Spelling

check 0.5

Content 4m
Grammar &
Spellings 1m;
presentation 1m

Content 4m
Grammar &



8(a)

8 (b)

Spellings 1m;
presentation 1m

In business enquiry occur a great deal of the dally corespondence. li is very important o a
business firm. Enquiry letters are important because it ask for information that is needed to
carry on business. An enquiry letter must be properly written, because it may bring valuable
business information and the opportunity to save maney or to make a profit. If the reply is
effectively written , it may build goodwill and earns profit.

S0 enquiry letter should be simple, clear and business related.

Characteristics: The characteristics of an inquiry letier are given below.

1.Asking fer any kinds of information.

2.Start with directly and politely.

3.Be more confidentiality.

4,Provide explanaticn for information.

5.Write language carefully.

6.Specific purpose.

7.Supported by replying letler.

8.Asking information within specific time.

9.Proper format on structure.

10.Formal language.

11. Mention proper causes,

12.Close cordially.

2.How man kinds of enquiry letler?
1. Personat status Enquiry.
2 Letters of financial status Enquiry.

3 Lelter of trade enquiry.
OR
Content 5m
How have you got influenced by the life of A, P. J Abdul Kalam? Elaborate Grammar &
Own way depending upon of how oneself got inspired Spellings 2 m;

prasentation 1m

How does Satya Nadella of Microsoft try to motivate his employees in his
email?

Nadella believes that Microsoft is a great place to work in because it believes in

S . Content 5m
empowering ils employees to innovate.

Grammar&
Spellings 2m ;

Nadella says that employees commonly underestimale their role in a company, and presentation 1m

overestimate the role of others. He says that each employee must work lowards
innovating technology which will make people's lives better and easier, and this
way, they can also find meaning and joy in their work.

What did Nadella predict for the future of technology?

« Nadella forecasts cloud computing, machine leaming, insights from big data and
increasingly ubiquitous technology with connected devices as the future, and
says that Microsoft will have to evolve to keep pace with these emerging
technologies and trends.

» Microsoft's goal in its early years was {o have a PC in every home and on every
desk. This goal has largely been achieved in the developed world. Today, the | M for one blank
world has more or less moved away from PCs and instead favors Mabile and
Clouds-Computing devices.

o Nadella believes thal going forward, Microsoft must focus on innovalions which
empawer people to do mare and improve their lives.

Nadella believes that Microsoft is uniquely situated to achieve its goal of being a tech
leader in the coming decades as well, because it can harness the power of




8 (a)

software as well as hardware, through its acquisition of Nokia.
OR

What does this quote really mean: "Stay hungry, stay foolish™?

The phrase uses adjectives considered as negatives and flips them o be used in a
positive connotation, hence the intrigue. | knew the words were meant for
motivational purposes but wasn't sure how | would prescribe to the notion of
‘slaying hungry and staying foolish’ in real life. Obviously the idea is not to go
without food and making rash decisions.

| tried to analyse my work style and pattern and compare with what | thought the
words meant. Staying hungry seemed to imply a search for ‘foed'. Food can be
used as a melaphor for any objective or goal so that would insinuate that | should
keep searching for my goal; note that there is a difference between working
towards & goa! and confinuous searching.

Similar to the above, | analysed this in conlext o my personal work style and
pattern.What | interpreted was to be foolish. Though it may sound silly, a quick
read through history and inventions show that most of the big names and
discoveries were made by ‘foolish’ people. Foolish referring to those who had
dared lo think a little different; think beyond what was being taught in schools and
society. This, to me was the ‘foolishness' being alluded to. It suggested | had to
learn to be more be more risky than the usual ‘risky' related to any business.
Some would call it crazy and say they are calculated risks, and maybe they are,
but calculations give reasons nol lo take action whilst foclishness seems the
opposite.

Needless to say, there has to be some limitations to this and only you would know
what they are. Personally, | have been blessed to have tried and learnt a lot along the
way with some successes and some not. The one thing | can say is | won’t look back
in 20 years and think *| should have tried that'. With each experience comes a lesson
and though it may sound like a cliché — it's reality.
THE REAL MEANING
The above is my interpretation of what the phrase means but in an interview for the
Guardian, Brand shares his thoughts behind it:

»...for some reason the image | had in my mind was of a hitchhiker at dawn on a road
somewhere and the sun comes up and there are trains going by. The frame of
mind of the young hitchhiker is one of the freest frames of mind there is. You're
always a little bit hungry and you know you are being complelely foolish.”

| guess my inlerpretation wasn't far off, but one can learn an imporant lesson here.
Every word or phrase is open to interpretation on your skill, knowledge, situalion,
and an array of other variables. The benefit comes from how we analyse the
given phrase or speech and use it to grow, and that's the goal. To Grow.

Steve Jobs frequently uses the words “drop out' and ‘drop in' in his first story. How
these words are closely related to his ‘connecting dots theory'?

9 (b)

Steve Jobs uses the words of drop out and drop in because his concept or theory of
connecting the dots aims at looking at things backwards. For inslance, he siated
in his theory that a person must have faith or trust in the fact that one way or
another the dots in hisfher life will be connected.He means that you will never
know in what ways certain experiences will bring great benefits fater in life. That
you should follow your true interests even if you think thal it will bring you no
other benefit than satisfying your curiosity. Because down the road you never
know how those experience could end up being extremely valuable to you, in

Content 3m
Grammar&
Spellings 2m;
presentation 1m

Content 3m
Salutation and
subjecl &
Spellings 2m;
presentation 1m




10 (a)

10 (b)

11 (a)

11 (b)

ways you never imagined, at just the right time: in your life.

So your experiences are like dots on paper. If you follow a rigid tight path through life you
look back and get a straight line. If you have diverse experiences in life you look back and
have enough dots in randem places to connect them and form a picture

Write about the early life and education of Stephen Hawking

Stephen William Hawking was born on January 8, 1942, in Oxford, England. His
father, a well-known researcher in tropical medicine, urged his son to seek a
career in medicine, but Stephen found biology and medicine were not exact
enough. Therefore, he tumed to the study of mathematics and physics.

Hawking was not an outstanding student at SL. Alban's School, nor later at Oxford
University, which he entered in 1959. He was a social young man who did litile
schoolwork because he was able lo grasp the essentials of a mathematics or physics
problem quickly. At home he reports, "I would take things apart fo see how they
worked, but they didn't often go back together.” His early school years were marked
by unhappiness at schoal, with his peers and on the playing field. While at Oxford he
became increasingly interested in physics (study of matter and energy), eventually
graduating with a first class honors in physics (1962). He immediately began
postgraduate studies at Cambridge University.

“Prof. Hawking's works are larger than his life.” Comment briefly

With the Oxford mathematician Roger Penrose, he showed that if there was a Big
Bang, it must have started from an infinitely small point - a singularity Black holes
radiate energy known as Hawking radiation, while gradually losing mass. This is due
to quantum effects near the edge of the black hole, a region called the event harizon
He predicted the existence of mini-black holes at the time of the Big Bang. These tiny
black holes would have been incredibly hot, shedding mass until they vanished -
potentially ending their lives in a powerful explosion.In the 70s, Hawking considered
whether the particles and light entering a black hole were destroyed if the black hole
evaporated. Hawking initially thought this “information” was lost from the Universe.
But US physicist Leonard Susskind disagreed. These ideas became known as the
information paradox. In 2004, Hawking conceded that the information must be
conserved.

OR
Fill in the blanks with appropriate prepositions:
He worked on debugging the program _from____ moring ___to_ evening.
By dinner he had finished and was ready __to_ upload his program. _for___
the first three hours ___of uploading the program two hundred people had
played the game _at___ his surprise
Explain what you understand about racial discrimination after reading the poem.
‘Telephonic conversation’
"Telephone Conversation" is a 1963 poem by the Nigerian writer Wole
Soyinka that satires racism. The poem describes a phone call between a
landlady and the speaker, who is black, about renting an apartment. The
landlady is pleasant until she learns that the speaker is "African,” at which
point she demands to know how "light" or "dark” the speaker's skin is. In
response, the speaker cleverly mocks the landlady’s ignorance and
prejudice, demonstrating that characterizing peopie by their skin color
diminishes their humanity.

Content 5m
Grammar&
Spellings 2m;
presentation 1m

im for one
sentence

Content 5m
Grammaré&
Spellings 2m;
presentation 1m

1M for each
answer




12(a)

12(b)

13(a)

13(b)

14(a)

14(b)

15(a)

15(b)

Explain in detail about Nehru's ideas and vision
Nehru was convinced that Science and Technology were crucial to the
solution of India’s problems. 1938 he said that it was science alone that could
solve the problems of hunger and poverty, of sanitation and illiteracy, of
superstition and deadening custom and tradition of vast resources running to
waste. of a rich country inhibited by starving people.
What did Nehru expect from his daughter?
Nehru advises his daughter to be open in all matters of freedom
movement and never to do anything secretly. - He asks his daughter to work
in the sun and in the light. Because things that are done in the dark, that is
in secret will cause fear and destroy the braveness.
What was Virginia wolf intention in writing the story ‘Shakespeare's sister'?
Woolf sheds light on the reality of women’s life during this time and illustrates
the effects of social structures on the creative spirit of women. In the society
they lived in, women were halted to explore and fulfill their talent the same
way men were able to, due to the gender role conventions that prevailed during
this era. Through a theoretical setting in which it is it is imagined that William
Shakespeare had a sister (Judith), Virginia Woolf personifies women during
the sixteenth century in order to reflect the hardships they had to overcome as
aspiring writers.
Give the synonyms:

(i) Candid-Natural,Open, truthful

(i) Inspire-motivate encourage,influence
(i} Naive-simple,sincere,innocent
(v Acumen-awareness,judgement,understanding

Write a paragraph about a person influericed you
Own way depending upon of how aneself got influenced

Fill in the blanks with correct verbs:

a. There __ has been__{to be) a lot of sofiware being deployed loday

b. One __have___{(has) to be careful malicious viruses

¢. Asecurity breach _is___{to be) a very dangerous thing to happen

d. Theinbox is filling up even as | __am talking__ (to talk) to you

. Software developers ___thought___ {to think) of hackers a long lime ago
Why _have (has, not) you not replied to the mail as yet?
Write a brief essay on “Life during the present pandemic”

Own way depending upon of how oneself got experienced

Explain Kalam's views about the constitution

He said he would give top priority to eradicating poverty in the couniry, and
also focus on heaith and equity among all sections of the society. President
Kalam took his Presidency seriously from Day 1. He was as comfortable
with constitutional and legal issues as he was with school children. He was
committed to nation-building and created a vision document to make India a
developed nation by 2020.
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Content 5m
Grammar&
Spellings 2m ;
presentation 1m

Content 2m
Grammar&
Spellings 1m ;
presentation 1m

Conlent Sm
Grammar&
Spellings 2m ;
presentalion 1m

1 mark for the

correct sentence,

with minimum
mistake 0-5m

Content 5m
Grammard
Spellings 2m;
presentation 1m

Content 2m
Grammar&
Spellings 1m;
presentation 1m

Content 3m
Grammar&
Spellings 2m;
presentation 1m

Content 3m
Grammar&
Spellings 2m;
presentation 1m
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Semester End Supplementary Examination, October, 2021

Degree B. Tech. (U.G.)  Program CE/ME Academic Year 2020 - 2021
Course Code 20BSX21 Test Duration  3Hrs. Max. Marks 70 Semester |
Course ENGINEERING CHEMISTRY

Part A (Short Answer Questions 5 x 2 = 10 Marks)

No.  Questions (1 through 5) Leaming Quicome (s}  DoK
1 Define hard water and soft water 20B3X21.1 L1
2 What is electrochemical series? 20BS5X21.2 L1
3 Write the Dulong's formula. 20BSX21.3 L2
4 What are the monomers of Thioka!? 20B5X21.4 L1
5  How does nanotechnology work? 20BSX21.5 L2

Part B (Long Answer Questions 5 x 12 = 60 Marks)

No.  Questions {6 through 15) Marks Leaming Outcome {s) DoK
6(a) Differentiate scale and sludge in boilers &M 20BSX21.1 L4
6 (b) Explain the desalination of brackish water by using electrodialysis &M 20BSX21.4 L2
process
OR
7(a) Distinguish the specifications for water by BIS and WHO M 20BSX21.1 L4
7(b)  Explain fon exchange process for demineralizalion of water 4aM 20BSX21.1 L2
8(a) Explain the construction & warking of calomel electrode &M 20BSX21.2 L2
8(b} Exptain the working of H,0; fuel cell with a neat diagram &M 20B5x21.2 L2
OR
9{a) How corrosion is controlled by using cathodic protection method M 20BSX21.2 L2
9(b) How |:|alure of metal {aclors that influences the extent of &M 20BSX21.2 L2
corrosion

10{a) Discuss about the proximale analysis of coal. Give ils

L &M 20BSX21.3 L2
significance
10(b) Define the following terms
a. Calorific value b. Knocking ¢. Octane number oM SLES S H
OR
11 (a) Dlscuss‘ about thelBerglus process for the manufaclure of the aM 20BSX21.3 L2
petrol with a neat diagram
11 (b} List out the applications of bic diesel 4M 20B5X21.3 L1
12 (a) \é\ilnr:z-t':le preparation, properties and applications of PVC and 6M 20BSX21 4 L2
12({b) Differentiate thermoplastic and thermosets 6M 20B5X21.4 L4
OR
13(a)  Explain the mechanism of lubrication &M 20BSX21.4 L2
13(b)  Distinguish the properties and engineering applications of oM 20BSX21.4 L4

composites and refractories
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Semester End Supplementary Examination, October, 2021

Degree B.Tech. (U.G) | Program | CEME Academic Year | 2020-2021 |
 Course Code 20BSX21 TestDuration  3Hrs. Max. Marks | 70 Semester | | '
"Cowse | ENGINEERING CHEMISTRY < cldomns O\l FRTRURT TV i
_ | PartA (Short Answer Questions 5 x 2 = 10 Marks) .
| No. | Questions (1 through 5} Learning Outcome {s) | BoK
1 Define hard water and soft water R ' N
| Hard water-Tmark Soft water-1 208SX21.4 I L
2 What is electrochemical series?
| Definition- 1 mark serles -1 mark 20B8X21.2 _ o
3 | Wile the Dulong's formula.
Formula- 2 marks 2088X21.3 (.
: CHO:3 = .
4 Whatare the monomers of Thiokol? '
' | Elhylenegiycol+ sodium sulphite -1 mark 20B8X21.4 =
5  How does nanolechnology work?
| Nanotechnology-1 mark
. Work-d 20B5X21.5 : L2
Part B (Long Answer Questions 5 x 12 = 60 Marks)
No. | Questions (6 through 15) Marks = Learning Ouicome (s) Dok
. Differentiate scale and siudge in boilers . . '
' Scale-2 marks with diagram
6(a) Example-1mark &M 20B85X21.1 14
. Sludge -2 marks with diagram '
| Example-1mark
| Explain the desalination of brackish water by using electrodiatysis
process
6 (b) | Desalination-2 marks - M 2085X21.1 | L2
Brackish waler-2 marks '
| Electrodialysis-2marks
OR
T (a)  Dislinguish the specifications for water by BIS and WHO _
Specifications table BIS- 4 Marks \
&M 208sX21.1 14
WHO -4 marks '
{h] | Explain lon exchange process for demlneraltzatlon of water
Calion ion exchange -2 marks
Anion ion exchange-2 marks 4M 20B5X21.1 L2

Process-Z2marks

8(a) Explainthe construction & working of calomel electrode
Constructions- 3 marks &M 2088X21.2 L2
Working-2 marks cell representations-1 mark

icReguaion 2007



8{b} Explain the working of H2.0; fuel cell with a neat diagram
Anade reaction-2marks
Cathode-2marks
Diagram with working -2 marks

&M 20B5X21.2 L2

OR
9(a) = How corrosion is controlled by using cathodic protection method
Tinning method-2
Process-2
Hot dipping-2 |
9(b) 'How nature of metal factors that influences the extent of
corosion
Nature of the metal-3 marks = e 2
Nature of Environmental — 3 marks '

oM 20B5X21.2 L2

10(a) Discuss about the proximate analysis of coal. Give ils
significance
% moisture -1
%voltile matter -1
%ash-1
%fixed carbon-1
Significance-2 mark

6M 20B5X21.3 L2

10(b) Define the following terms
a. Calorific value -2 marks
b. b, Knocking-breaking off -2marks
€. ¢ QOclane number-petrol rating-2 mark

&M 20B8X21.3 L1

OR
11(a) Discuss about the Bergius process for the manufacture of the
petrol with a neat diagram
Equations-4 marks
Manufacture-2 mark
Diagram-2 mark

8M 20B8X21.3 L2

11(b) Listout the applications of bio diese!
Nalural diseal- 4 applications -4 marks o 2058)(?1 . -
12(a)  Wite the preparation, properties and applications of PVC and
Buna-N
PVC-3 marks 6M 20BSX21.4 L2
Buna-N- 3 marks

12{b)  Differentiate thermoplastic and thermosets
Thermoplastic-3 marks &M 20BSX21.4 L4
Thermosetting- 3 marks

OR
13(a)  Explain the mechanism of lubrication
Lubrications-3 marks &M 20BSX21.4 L2
Mechanism-3 mark
13(b}  Distinguish the properties and engineering applications of

. . &M 208SX21.4 L4
composites and refraclories




Acid-2
| Base-2
- Neutral-2

| 14 (a) Explain the synthesis of colloids by using any method with example.

Synlhesns-3 marks |
Method- 3 marks
4 (b) Discuss the principle, -2 marks
' . Instrumentation -2mark
i and applications of Transmission Electron Microscopy-2 marks |
- OR
“Wile a brief nole on applications of Nanomaterials
Apphcahons of nanomaterials -6 marks .
| " Discuss about the nano sensors. Wit its applications ' |
15 b) Nanosensors -3 marks
' Applications-3 marks _ '

! 15(a)

el ™

&M

&M

6M

oM

20BSX21.5

20BSX21.5

208SX21.5

20BSX21.5
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Semester End Supplementary Examination, October, 2021

Degree B. Tech. (U.G.) Program Common to CE/ME Academic Year 2020 - 2021
Course Code 20ESX01 TestDuration 3 Hrs. Max.Marks 70 Semester |
Course ENGINEERING DRAWING

Part A {Short Answer Questions 2x 5 = 10 Marks)
No. . Questions (1 through 2) Leaming Ouicome (s}  DoK

1 Define first angle projection and draw the projections of the conventional 20ESX01.2 L2
indicator/symbol for first angle projection with complete dimensions ’
A thin circular plate of 100 mm diameter is resting on its circumference such
2 thatits plane is inclined 30" to the H.P. and 60" to the V.P. Draw the projections 20E8X01.3 £3
of the plate
Part B {Long Answer Questions 5 x 12 = 60 Marks)
Q O No.  Questions (3 through 12} Marks = Leaming Outcome {s)  DoK
A fixed point is 75 mm from a fixed straight line. Draw the locus of a
3(a}  point P moving such a way that its distance from the fixed straight line ~ 6M 20ESX01.1 L3
is (1) twice its distance from the fixed paint; Name the curve
_ Draw a parahola having 75 mm base and 100 mm axis using
) rectangular method - CLSAEL L2
OR
Cunstruci a scaie or K&, = 184480 to show miles and furlongs and ;
4@ long enough to measure upto 6 miles . DESXD1.1 .
The area of a field is 50,000 sq m. The length and the breadth of the
4 (b) field, on the map is 10 cm and 8 cm respectively. Construct a &M 20ESX01.1 L3

diagonal scale which can read upto one metre. Mark the length of 235
metre on the scale. What is the R.F. of the scale?

A point P is in the first quadrant. lls shortest distance from the
intersection point of H.P, V.P. and Auxiliary vertical plane,
9(a)  perpendicular to the H.P. and V.P. is 70 mm and it is equidistant from &M 20ESX01.2 L2

principai planes (H.P. and V.P.}. Draw the projections of the point and

determine its dislance from the H.P. and V.P

A line AB, inclined at 40° to the V.P., has its ends 50 mm and 20 mm
D O 5(b) above the H.P. The length of its front view is 65 mm and its V.T. is 10

mm above the H.P. Determine the true length of AB, its inclination

with the H.P. andits H. T

&M 20ESX(1.2 L3

OR
A point P is 15 mm above the H.P. and 20 mm in front of the V.P,
Ancther paint Q is 25 mm behind the V.P. and 40 mm below the H.P.
6{a) Draw projections of P and Q keeping the distance betwsen their M 20ESX1.2 L2

projectors equal to 90 mm. Draw straight lines joining (7) their top

views and (ji} their front views

The front view a'b' and the H.T. of a line AB, inclined at 23 to the f-

1.P. are given in figure. Detemmine the true length of AB, its inclination

with the V.P. andits V. T
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Draw the projections of & regutar hexagon of 35 mm side, having one
of its sides in the H.P. and inclined at 60° to the V.P., and its surface
making an angle of 45° with the H.P
A circular plate of negligible thickness and 50 mm diameter appears
as an ellipse in the froni view, having its major axis 50 mm long and
minor axis 30 mm long. Draw its top view when the major axis of the
ellipse is horizontal

OR
Draw the projections of a circle of 680 mm diameter resting in the H.P.
on a point A on the circumferance, its plane inclined at 45° to the H.P.
and the top view of the diameter AB making 30° angle with the V.P
A pentagonal plate of 50 mm side has a circular hole of 40 mm
diameter in its centre. The plane stands on one of its sides on the
M.P. with its plane perpendicular to V.P. and 45° inclined to the H.P.
Draw the projections

Draw the projections of a cone, base 75 mm diameter and axis 100
mm long, lying on the HP. on ane of its generators with the axis
parallel to the V.P

A square prism, base 40 mm side and height 65 mm, has its axis
inclined at 45° to the H.P. and has an edge of its base, on the H.P
and inclined at 30° to the V.P. Draw ils projectians

Draw the prajections of a pentagonal prism, base 25 mm side and
axis 50 mm long, resting on one of its rectangular faces on the HF.,
yith tha awis inclined at 45'to the VP

A square pyramid, base 38 mm side and axis 50 mm long, is freely
suspended from one of the comers of its base. Draw its projections,
when the axis as a vertical plane makes an angle of 45° with the V.P.
When a pyramid is suspended freely from a comer of its base, the
imaginary line joining that comer with the centre of gravity of the
pyramid will be vertical

Draw the front view, lop view and both sides view from the jsometric
view. All dimensians are in mm
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